Technical
Manual

XANTREX

TM-1000-XN

—_——

)

)

]

]

i

]

]

=

=y The Power To Rely On
=]

=

=

=)

=

sty

e

=

2

)

=

2

oy

2 Y

=)

=]

rEh

B,

)

2 .

a Technical

= Manual for

)

- XKW Series (1000 Watt)
) Power Supply

=

=Y

o This manual covers models:
o 8-125 80-13
2 20-50 150-7
) 33-33 300-3.5
2 40-25 600-1.7
2 60-18

n

o

)

Y

2

)

Y

2

.

.

.

.




Xantrex Limited Warranty

All XKW Series power supplies manufactured by Xantrex arc guaranteed
for five (5) years from the date of delivery against defects in material and
workmanship. This does not apply to products damaged through accident,
abuse, misuse, or unauthorized repair. The manufacturer shall not be liable
for any special or consequential damage of any nature.

The manufacturer will repair or replace the non-conforming product or
issue credit, at its option, provided the manufacturer's inspection
establishes the existence of a defect. Packing, freight, insurance and other
charges incurred in returning the defective products to the manufacturer
will be paid by the purchaser. The manufacturer will pay return freight if
the repaired unit is deemed to be under warranty. If any questions arise
concerning the warranty, check with Xantrex prior to taking any action.

When requesting information, assistance or authorization please include

the model and serial number of the unit. Use the spaces below to record
this information so that it is readily available.

Model:

Serial Number:

4
i
b
_
]
g
Ll
[
L
u
|
L

=

AN NRNNEww



DOIDIIIIIIIIIPIPDIPININIDINIIBIIIIIVIIIPIVBB3333380030009)

Xantrex XKW Series DC Power Supply
1000 Watt Models

Technical Manual

Release 5.1 (96/12/06)

TM-1000-XN

Xantrex Technology Inc.
8587 Baxter Place
Burnaby BC
CANADA V5A 4V7
TEL: (604) 421-3031
FAX: (604) 421-3029
Customer Service: 1-800-667-8422

E-mail: xantrex@xantrex.com
Home Page: http://www.xantrex.com




L8 B N N N 8 N N N N N N

-



PIIIIIPIISIIIOIPIPIIOIOIIDIIIIOIOGDOOIIIIIDPDIBIIOIOIGIOIGOICGOICGOEITGOEITCGOSNTS

XKW 1000 WATT SERIES ABOUT THIS MANUAL

About This Manual

This manual contains user information for the XKW Series DC Power Supply, 1000 Watt models. It provides
information about features and specifications, installation procedures, and basic functions testing, as well as
operating procedures. It also includes a complete set of schematics, circuit descriptions, and parts lists for the
assemblies used in the system supply.

This manual is designed for the user who is familiar with basic electrical laws especially as they apply to the
operation of power supplies. This implies a recognition of Constant Voltage and Constant Current operating
modes and the control of input and output power, as well as the observance of safe techniques while effecting
supply or pin connections and any changes in switch and jumper settings. The more knowledgeable user will
find that the detailed schematics and circuit descriptions supplicd will enable a greater flexibility in
troubleshooting and in configuring new applications.

Section 1 Features and Specifications Describes the power supply, lists its features, and
provides tables of specifications for all of the models.

Section 2 Installation and Operation Reviews safety and inspection procedures, then goes
through the basic installation procedures. Directions for
the input voltage selection, for the testing of basic
functions, for remote programming and for connecting
the load are included.

Section 3 Theory of Operation Describes the operation of the A2 assembly switching
regulator power circuit and the Al assembly meter
circuit. Covers basic switching regulator theory, a
simplified description of the full bridge converter, and a
more detailed circuit description intended for
troubleshooting purposes.

Section 4 Maintenance, Troubleshooting, Covers service precautions and procedures including

and Calibration calibration.

Section 5 Schematics and Parts Lists Provides schematic drawings and parts lists for the Al
Front Panel PCB assembly and the A2 Power PCB
assembly, in addition to the chassis and cover.

Appendix A: Application Note Contains application note about battery charging.

Warnings, Cautions, and Notes

Warnings, cautions, and notes are defined and formatted as presented below.

WARNING
Describes a potential hazard which could result in injury or death, or, a
procedure which, if not performed correctly, could result in injury or death.

CAUTION
Describes a procedure which, if not performed correctly, could result in
damage to data, equipment, or systems.

Note: Describes additional operating information which may affect the performance of the equipment.

Release 5.1 (96/12) i




MANUAL CORRECTIONS XKW 1000 WATT SERIES

MANUAL CORRECTIONS

CE mark certification approval updated. Pages ii and 1-3 replaced with Release 5.2 (97/01/24) version.

i Release 5.2 (97/01)

e e W S B T W W M me e g w



CONTENTS
1. FEATURES AND SPECIFICATIONS

LT DESCIIPLION ...ttt ettt et e es s oa e st s e e et e s e e e asie e b e e
1.2 POWer SUPPLY FEALUTES ............. o ioisrersaimssvssnisviossnses st st s s s aads s s a5 S0 0
1.3 Operating MOUES ........ vt i i b s s vl B e
1.4 SPecifiCAtIONS.........ocooririeiirireceveinen B s e S B e o e S T e B e vseevravads
1.4.1 Electrical Specifications ...
1.4.2 Mechanical Spemﬁcatlons

2. INSTALLATION AND OPERATION

2.1 GEMETAL.....c.oocirvimnenrnere oo SR A S S S s B B e R A T T T
2.2 Initial INSPECLION............c..... i i e Sarsever s a s oS Fr g O AS A EH b S e irmemrmr s
2.3 INSEALTALION. . ..ottt ettt s et s et et e et et e st ebeste bt eesetne e eesete s enne st eees
2.3.1 AC Input VOIAZE SELECHOM ........cveieeieeerireiiisessesinsseereetsesesssssesssssssseesseresesessessersesesesnes
2.3.2 Input Line IMPEAANCE........c..oviiriciiiie i cis e ce st ensctnsesssrsesesnsassseseraesrssasannes
2.3.3 Ventilation REQUITEINENTS ............ociiviiriiiriiisiiiesesirsissiisisessinessesesmesssnsesesssesssaessesessseens
2.3.4 Output Voltage Biasing ..............cuummmmss s s s o s s s s ns i
2.3.5 Rack Mounting......... sensississiiis s s bt s s i isia
2.4 FUNCHONAL TESES........euiotieiiiitiiititie ittt et e se e eee et e eeseess et et e saensenseeneenesesaresns
2.4.1 Voltage Mode OPEIAtiON. ..............vrviviiieereisssiriensssessiesiiissosnssesssssensssssesesmssessssesesssns
2.4.2 Current Mode OPEIation.............ccururreueeueririeeiesereesereesseseseseesssesssssessssssssesessssesesssesesesss
2.5 Controls, Connectors, and INAICALOTS. ............c.cevemieriieieieeseeresisieseessisessesses s eresssssseesssesesesisenes
2.6 Load Connection...
2.6.1 Load Conductor Ratmgs
2.6.2 Load Connection and Groundlng
2.6.3 Output Cord Strain Relief...
2.7 Local and Remote Sensing ...
2.8 Single Supply Operation (Local Mode)
2.8.1 Setup...
2.8.2 Voltage Mode Operatlon
2.8.3 Current Mode Operatlon
2.9 MUItPIE SUPPIIES.........covimiiiiieiiiiietierteee ettt es s e eae s eaeseaeae s e e s e s seneesae s eenesaesaes
2.9.1 Series OPEIALION..........ceeuriieeiiieeiiiitcteete ettt te sttt ees e e e e e e ennenenees
2.9.2 Paralle] OPEIAtiON ............cocovviieiiviiieiiiiitees e see e ss s easeasstseseessenssassnesessreesseeesneesees
2.9.3 Split SUPPLY OPEIALION .........ccveeireseiriieteeeresiesserseseessssessssesessesessssssesssssessssesnensssssssnee
2.10 Over Voltage ProteCtion (OVP)............c.cooviiviiiiiiiiiiireirssisisesssiieessssssssessissssssnssessesssssssseeseses
2.10.1 Front Panel OVP OPEration................c..ciiecuiiiieeeiueiiuessieesiesiesiasiaseseseessonsssssssasnssessssiens
2.10.2 Remote Programming of OVP With External Voltage SOUrces .............coocivieiiiiiiannan.
2.10.3 Remote Programming of OVP with an External ResiStance ...............cccocoeiovvcviiniennnee.
2.10.4 Remote Programming of OVP with External Current SOUICES ..............ccecvvvvrrerirvennen.
2.10.5 REMOLE OVP SENSING .....cccevivieiiiiriiire it ese et et e saesseasesesse st e e eressessesesesssansseesssneens
2.11 Remote ON/OFF ... .
2.11.1 Remote ON/OFF by Contact Closure ..........................................................................
2.12 Remote Programming of Output Voltage and Current Limit...................coocovviriiiviiviinininiieias
2.12.1 Remote Programming SWitch SW1.........ccoioiiiiiiiiiiiiniiiiiiiire st cesesiesis s svs e
2.12.2 Programming With External VOIAge SOUICES............oveioviiiivreoessesneiseesssiseersessneessonnes
2.12.3 Programming With an External ReSISTAICE. ..............oevreeveieeeiierecreeieiescseesarssssessassanes
2.12.4 Programming With an External Current SOUICE ...........couovueeeieeereeiieriniserenesinsssssenenses
2.13 Remote Monitoring and Status INAICALOrS. ................oouviiiiiiuiieiiece ettt e eres e b
2.14 Using Over Temperature Protection (OTP)..............ccooiiiouiiiiiiiieeieieeoeeesieoeeeeseesensesssinaiens
2.14.1 Resetting the OTP CIICUIL........c.oiiiiiiiiiiisiiiiiisiiieiesirs s iaesesesissesessssessesesasersosisesissiess

Release 5.1 (96/12)

Oil....O...l.......l....0'.l.l....llll..........l‘i.ll.“

2-1
2-1
2-1
2-1
2-2
2-2

.2-2

2-3
2-3
2-3

.2-4

2-4

s 2-8
.. 2-8

verenn 2=9
...2-10

2-11

voenna 2-11
w2-11

2-11
2-12
2-12
2-12

.2-13

2-14
2-14

.2-15

2-16
2-17
2-18

.. 2-18

2-18
2-19
2-19
2-20

.2-21

2-22
2-23
2-24

.2-24

XKW 1000 WATT SERIES CONTENTS




CONTENTS

CONTENTS
3. THEORY OF OPERATION

3.1 Power Circuit (A2 ASSembLY)............coovviviiiiiiiiiiise e
3.1.1 Basic Off-Line Switching Regulator Theory ......................
3.1.2 Simplified Full Bridge Converter TREOIY.............cccvevrvrirrireeererinniserssimresssinsseerssieesns
3.1.3 Detailed Circuit DESCTIPIION ...........c.viiiiiiieeeeeeesr s sreesesseesaessesansse s eresesssasssssse s cnses

3.2 Meter Circuit (Al ASSEMDBLY) ......c...cooviiiiiiiiieiiieeceiessorreeseenraees
3.2.1 VOIMELEE .......... .. suvssssossumsinssnissssniusss s s o s s s s eiasasis s sy ssiss s ssssapmssisso shmsss

3.2.2 Current Meter ...............

XKW 1000 WATT SERIES

4. MAINTENANCE, TROUBLESHOOTING, AND CALIBRATION

.1 GEINETAL.......oitiiiiiitiiciie et et ettt et
4.2 PeriodiC SEIVICE .....vvieviiiiiiiiieiere et en e sesseenae s
4.3 ServiCing PTECAULIONS .... .uesusvicsvissenisersiimaiansnkiesshsmasines e s siasis s s s v s siusnissvss
4.4 TroubleShOOtNG...........c..cciimimiiiiniiiiiieiii et eie e eers e

4.4.1 Preliminary Checks uemmusvimsasmimin s i s s e i s e oy s oo s dvia i

4.4.2 Internal Troubleshooting...............cccuvcimmeiecveceiieereeereene,
4.5 CalibIation...........coooviriiriiiiieiii et e e e ennee s ernnnes

5. SCHEMATICS AND PARTS LISTS

ST GENETAL ..ottt
5.2Parts OTAETINgG ......cvveeviiiiiiiiit et
5.3 Al Front Panel Assembly Replacement Parts................ccocuvennce.
5.4 A2 Power Assembly Replacement Parts ................ccocvvveveriieieeriee oo e eesneeseeeneeeseee s

5.4.1 A2 PCB COMIMON PAItS..........oooiiiiiiiiiiiiniiiiiiersieieesisessnsessssenssessesnsessssnssensesssensesnnesmses

5.4.2 A2 PCB Differential Parts................

5.5 Chassis and Cover Assembly Replacement Parts..........c..ccccvvivviiiiiiiniioriimiinmirnmsomonesmesssenns

APPENDIX A: APPLICATION NOTE

Battery Charging ............uuueeesacss ks s o ausas s s s s i iiiata s

4-1

........................................... 4-1

4-1

............................................. 4-1

4-1

............................................ 4-1
............................................. 4-2

............................................. 5-1
............................................. 5-1

5-2
5-2
.. 3-6
5-17

Release 5.1 (96/12)

e Bk M ONE OO

R o s — - — i ™ S — " S — g S— — - e g ™ e = . T



uououowaouoODGODOO!OO'O'!.'D.I...'.".'...‘."“.“"“E

XKW 1000 WATT SERIES

LIST OF ILLUSTRATIONS

Figure 2.4-1
Figure 2.5-1
Figure 2.5-2
Figure 2.5-3
Figure 2.6-1
Figure 2.6-2
Figure 2.8-1
Figure 2.10-1
Figure 2.10-2
Figure 2.10-3
Figure 2.10-4

Figure 2.12-1
Figure 2.12-2

Figure 2.12-3

Figure 2.12-4
Figure 2.12-5

Figure 2.12-6
Figure 2.12-7
Figure 2.12-8
Figure 3.1-1
Figure 4.4-1
Figure 4.5-1

Figure 5.3-1
Figure 5.4-1

Connector J3 Configuration for Local Operation......................cooooovooooooooo 2-3
Front PNl ..o e 2-5
REAT PANC ... 2-6
J3 Program, Sense, and Monitor Connector DeSCription.................c..c.coocovvvovieevooo. 2-7
Strain REHEL...........c...ooiiiii e 2-9
Strain ReHEf ASSEMbIY...........coovvoiiviieiieei oo 2-9
Switch SW1 and Connector J3 Configuration for Local Operation .............o.ooooovoooo.... 2-11
Switch SW1 and Connector J3 Configuration for 0-3Vdc OVP Programming................ 2-15
Switch SW1 and Connector J3 Configuration for 0-10Vdc OVP Programming............... 2-15
Switch SW1 and Connector J3 Configuration for 0-5k OVP Programming .................... 2-16
Switch SW1 and Connector J3 Configuration for 0-1lmA Current Source OVP
Programming.............cccooiiiiiiiiiiii oo e e 2-17
SWILCh SW1 FUNCHONS ..........ooovioiicceceeeeeee e 2-19
Switch SW1 and Connector J3 Configuration for 0-5V Programming of the Output

VOMBEE .....coiisiinieincnnnierieee et smmaveeeoneme st eeeee e e tesemte e 2-20
Switch SW1 and Connector J3 Configuration for 0-10V Programming of the Output

VOIABE ...t 2-20

Connector J3 Configuration for Remote Programming of the Output Current Limit .......2-21
Switch SW1 and Connector J3 Configuration for Resistive Programming of the Output
Voltage. ................. cverernenns 2721

Switch SW1 and Connector J3 Configuration for Resistive Programming of the Output
Current LA ... e 2-22
Switch SW1 and Connector J3 Configuration for 0-1mA Current Programming of the
OUIPUEL VOIAZE ......coovveieieeiie e 2-22
Switch SW1 and Connector J3 Configuration for 0-1mA Current Programming of the
Output Carrent LAMit..............cooovovieoioeoeoeeoeeeeeeoeeeooeeoooo 2-23
Simplified Full Bridge CONVEITET ................coo.ooieeeeoeeeeoesooeoeoeooeoeeoeooooo 3-2A
TroubleShOOtNg GUIE. .............oeovveieiieiieeeceeee oo 4-2A
Calibration Adjustment LOCAtONS ...................cocovovooveveoeooeoeoooooooooo 4-2
1kW A1 Assembly SChEmMALIC ..............co.cov.ovoieeieeeeeeeeee oo 5-2A
1kW A2 Assembly SChematic ....................ooovrerrooeeeeoeoeoeooeoooooo 5-16A

LIST OF TABLES

Table 1.4-1
Table 1.4-2
Table 1.4-3
Table 2.6-1
Table 2.12-1
Table 2.13-1
Table 4.5-1
Table 5.3-1
Table 5.4-1
Table 5.4-2
Table 5.4-3
Table 5.5-1
Table A-1

Electrical Specifications.................cco..covoumovov oo 122
Additional ChAracteriStiCs...............rvviverirorrieereeeeseresesnseessesseseessesses oo, 123
Remote Analog Programming SCales ..................ococeveeserrerorssresororeoossosooeooe. 123

Load Conductor RAtINES.....................oo.ovueieieeeeesiosessssse oo 2-8
Program Voltage Selection......................ccoeuovoroiieeeee oo 2-20
SAtUS INAICALOTS ...t 2-23
Circuit DESIgNAtiON. ..........c.ooovvieioiieoeeeeeeeeeeeeeeee oo 4-2
Al Front Panel Assembly Replacement Parts.................o.coooooovvoveoeooooo 521
A2 PCB CommON PATMS ........co.ooooviiiiiiiiieieeeese oo e es e 5-2
Output Bus Bar Common Parts (8V to 80V Models) .....caasmmiassnmnsssissmaisn 30
A2 PCB Differential Parts (AILMOGEIS) ............co.ovovoeooeeoeeoeeooeeoeeeeeeeeoeeo 5-6
Chassis And Cover Assembly Replacement Parts..................oooovoovooooooooooo 5-17
Output Diode Selection CHtEria ................o.ovovoeoooeooooeeooo A-2

Release 5.1 (96/12)

ILLUSTRATIONS AND TABLES







l

A AL A AR R R R R AR R R R R RN EEE A EEEEEEE R AR R R AR AR R RN RN RN NN

- - —— - e

XKW 1000 WATT SERIES FEATURES AND SPECIFICATIONS

1. FEATURES AND SPECIFICATIONS

1.1 Description

The XKW Series power supply is a 1000 Watt supply designed to provide highly stable, variable output
voltage and current for a broad range of development, system, and burn-in applications. The series consists of
nine models designated by the XKW prefix, followed by the output voltage and current ratings. For example,
the model number XKW 60-18 indicates that the unit is rated at 0-60 Vdc and 0-18 Amps while a model
XKW 20-50 is rated at 0-20 Vdc and 0-50 Amps. The XKW Series employs high frequency switching
regulator technology to achieve high power density and small package size.

1.2 Power Supply Features

e Nine models with voltage ranges from 0-8Vdc to 0-600Vdc and current outputs from 1.7A to 125A.
e 115/230Vac selectable input voltage, 47-63Hz single phase.
e Simultaneous digital display of both voltage and current.

e Ten turn potentiometer voltage and current controls permit high resolution setting of the output
voltage and current from zero to the rated output.

e Automatic mode crossover into current or voltage mode.

o Flexible output configuration: multiple units can be connected in parallel or series to provide
increased current or voltage.

e High frequency switching technology allows high power density, providing increased power output in
a small, light package.

e Remote sensing to compensate for losses in power leads up to 1V/lead (0.5V/lead for XKW 8-125
model).

e Adjustable Over Voltage Protection (OVP).
e External TTL, AC, or DC shutdown.
e Remote voltage, current limit and OVP programming with selectable programming constants.

e External indicator signals for remote monitoring of OVP status, local/remote programming status,
thermal shutdown, and output voltage and current.

e Optional [EEE-488 interface for complete remote programming and readback capability.

e  Optional ISOL interface for isolated programming.

Release 5.1 (96/12) 1-1




FEATURES AND SPECIFICATIONS XKW 1000 WATT SERIES

1.3 Operating Modes

The XKW Series supply has two basic operating modes: Constant Voltage and Constant Current. In constant
voltage mode the output voltage is regulated at the selected value while the output current varies with the load
requirements. In constant current mode the output current is regulated at the selected value while the output
voltage varies with the load requirements.

An automatic crossover system enables the unit to switch operating modes in response to varying load
requirements. If, for example, the unit is operating in voltage mode and the load current attempts to increase
above the setting of the current control, the unit will switch automatically from voltage mode to current mode.
If the load current is subsequently reduced below the setting of the current control the unit will return to
voltage mode automatically.

1.4 Specifications

1.4.1 Electrical Specifications

TABLE 1.4-1 ELECTRICAL SPECIFICATIONS

MODELS 8-125 20-50 |33-33 40-25 |60-18 |80-13 | 150-7 300-3.5 |600-1.7
Output Ratings:
Output Voltage 0-8Vv 0-20vV | 0-33V 0-40v | 0-60V | 0-80V [0-150V 0-300Vv | 0-600V
Output Current 0-125A | 0-50A | 0-33A 0-25A |0-18A |O-13A (O-7A 0-35A |0-1.7A

Output Power 1000W | 1000W | 1088W 1000W | 1080W | 1040W | 1050W 1050W | 1020w

Line Regulation:

Voltage 8mvV 20mvV 33mvV 40mV | 60mV | 80mV | 150mV 300mV | 600mV

Current 125mA | 50mA 33mA 25mA 18mA 13mA | 7mA 3.5mA 1.7mA
Load Regulation®

Voltage 8mV 20mvV 3BmV 40mV 60mvV | 80mV | 150mV 300mV | 600mV

Current 125mA | 50mA 33mA 25mA 18mA 13mA | 7mA 3.5mA 1.7mA
Meter Accuracy:

Voltage 0.09V 0.3v 0.43V 0.5V 0.7v 0.9v 1.6V 4.0V 7.0V

Current 1.35A 0.6A 0.43A 0.35A 0.28A | 0.23A |0.08A 0.045A | 0.018A

OVP Adjustment Range 0.4-8.8V | 1.0-22V | 1.65-36.3V | 2-44V | 3-66V_ | 488V | 7.5-165V | 15-330V | 30-660V
Output Noise and Ripple (V)

(20Hz-20MHz) :
ms 10mv 10mvV 10mV 10mv 20mvV 20mV | 30mV 40mVv 100mV

Specifications are warranted over a temperature range of 0-50°C with default local sensing. From 50-70°C, derate output 2% per °C.

! For input voltage variation over the AC input voltage range, with constant rated load

2 For 0-100% load variation, with constant nominal line voltage

AC Input: 200-250Vac at 10Arms or 100-130Vac at 20Arms, 47-63Hz
Maximum Voltage Differential from output to safety ground: 600Vdc

p-p 50mv | 50mV | 100mV 100mV | 150mV | 150mv | 200mv | 200mV | 500mV
1-2 Release 5.1 (96/12)



BIPIIPIIIIIIIIIIIIIIIINIIIPI09339900333333%0 %8RS

XKW 1000 WATT SERIES

1.4 Specifications

1.4.1 Electrical Specifications (continued)

Additional Characteristics

FEATURES AND SPECIFICATIONS

TABLE 1.4-2 ADDITIONAL CHARACTERISTICS
MODELS 8-125 20-50 33-33 40-25 60-18 80-13 150-7 |300-3.5 |600-1.7
Stability”:
Voltage 4amv 10mVv 16.5mV 20mVv 30mV 40mvV 75mV [ 150mV | 300mV
Current 62.5mA 25mA 16.5mA 12.5mA 9mA 6.5mA 3.5mA |1.75mA [ 0.85mA
Temperature Coefficient’;
Voltage 1.6mV amv 6.6mV 8mV 12mV 16mV 30mvV | 60mV 120mV
Current 37.5mA 15mA 9.9mA 7.5mA 5.4mA 3.9mA 21mA | 1.05mA [ 0.51mA
Maximum Remote Sense
Line Drop Compensation | 0.5V 1V 1V 1V 1V 1V 1V 1V WV
(/line)
Nominal Output 66,000pF | 30,000uF | 10,000uF | 10,000uF | 10,000uF | 3,000pF | 440uF | 440uF 47uF
Capacitance
Nominal Capacitance
from Output to Chassis 200nF 270nF 300nF 250nF 250nF 250nF 250nF | 270nF 220nF

! Maximum drift over 8 hours with constant line, load, and temperature, after 90 minute warmup

2

Change in output per °C change in ambient temperature, with constant line and load

Storage Temperature Range: -55 to +85°C

Humidity Range: 0 to 80% Non-condensing

Time Delay from power on until output stable: 2 seconds maximum

Voltage Mode Transient Response Time: 1ms recovery to 1% band for 30% step load change from 70% to

100% or 100% to 70%

Remote Start/Stop and Interlock: TTL compatible input, Contact Closure, 12-250Vac or 12-130Vdc

Switching Frequency: Nominal 100kHz, 200kHz output ripple (>80V models = 80kHz, 160 kHz output

ripple.

Analog Programming Linearity: Typical error is less than 0.5% setting. Maximum error is 1% of rated

output.

Agency Approvals: CSA, UL. CE marked units comply with the general protection requirements of the
European Council Directive 89/336/EEC: EN55011 Group 1 Class A 1990, EN50081-2
1992, EN50082-1 1992 and with the European LV Directive 73/23/EEC: IEC 1010-1,
IEC 1010-2.

Remote Analog Programming (Full Scale Input)

Scales are selectable via an internally-mounted switch.

TABLE 1.4-1 REMOTE ANALOG PROGRAMMING SCALES
PARAMETER RESISTANCE VOLTAGE CURRENT
Voltage 5kQ 5V, 10V 1mA
Current 5kQ 0.1V, 5V, 10V 1mA
OVP 5kQ 5V, 10V 1TmA

Release 5.2 (97/01)

1-3




FEATURES AND SPECIFICATIONS XKW 1000 WATT SERIES

1.4 Specifications
1.4.2 Mechanical Specifications

Dimensions: 41.635mm (1.71in) H x 482.6mm (19in) W x 443.865mm (17.475in) D
Weight: 8.2kg (18lbs)

J3 Program, Sense, and Monitor Connector: D-subminiature 25 Pin Female (Mating connector - 25 pin
male ITT Cannon DB25P or equivalent)

Models XKW 8-125 through XKW 80-13 Connector: Nickel plated copper bus bars. Approximate
dimensions: 1.365" x 0.8" x 0.125". Distance between positive and negative bus bar centers: 2.2".

Load wiring mounting holes: Two 0.257" diameter holes on 0.5" centers (1/4" hardware); Two 0.191"
diameter holes on 0.4" centers (#10 hardware)

Models XKW 150-7 through XKW 600-1.7 Connector: Six pin Amp Universal Mate-N-Lok connector

(Eight Socket pins and one mating connector housing are supplied in a ziplock bag packaged with each 150V
through 600V unit.)

1-4 Release 5.1 (96/12)




r R R R ERE R R R R R R R R R R R R R R RRRRRRRRR R R R R R R R RRRRRRRRRRRR B

XKW 1000 WATT SERIES INSTALLATION AND OPERATION

2. INSTALLATION AND OPERATION
2.1 General

After unpacking, perform an initial inspection and function test to ensure that the unit is in good working
order. If the unit was damaged in shipment, notify the carrier immediately. Direct repair problems to the
Service Department.

2.2 Initial Inspection
Inspect the equipment for damage as follows:
¢ Inspect for obvious signs of physical damage.

e Turn front panel controls from stop to stop. Rotation should be smooth.

Test the action of the power switch. Switching action should be positive.

L ]

If internal damage is suspected, remove the cover and check for printed circuit board and/or
component damage. Reinstall cover.

2.3 Installation

231 AC Input Voltage Selection

WARNING
Exercise caution when using and servicing power supplies. High energy
levels can be stored at the output voltage terminais on all power supplies in
normal operation. In addition, potentially lethal voltages exist in the power
circuit and the output connector of power supplies which are rated at 40V
and over. Filter capacitors store potentially dangerous energy for some time
after power is removed.

WARNING
To provide protection for personnel in the case of unit failure and to ensure
proper power supply operation, the safety ground wire of the AC input line
cord must ALWAYS be connected to the ground screw provided.

WARNING
Attempted operation of the XKW power supply with the incorrect input
voltage may result in internal damage to the unit.

Before using the XKW power supply, the correct AC input voltage must be selected and an appropriate line
cord and plug attached. All units are shipped in a configuration requiring a 200-250Vac 10 Amp input. The
unit can also be converted for use with a 100-130Vac 20A input.

200-250Vac Input
Connect a 250Vac 15Amp plug and cord to the rear panel AC connector and the safety ground screw. (Note

that the NEUT. and LINE designations above the AC connector apply to the 100-130Vac 20A input but do not
apply to 200-250V operation.)

Release 5.1 (96/12) 2-1




INSTALLATION AND OPERATION XKW 1000 WATT SERIES

2.3 Installation
2.3.1 Input Voltage Selection (continued)

100-130Vac 20A Input

To convert the unit for use with a 100-130Vac 20A input, perform the following steps:

1. Ensure that the unit is switched off and disconnected from any power source.
2. Remove the Phillips head screws which secure the cover and then remove the cover from the unit.

3. Remove the 230Vac voltage selector jumper located at the front center of the PCB from its mating
header (designated P1 on the PCB) and install the attached 115Vac jumper in its place.

4. Reinstall the cover and replace the screws.

5. Use the adhesive backed 115Vac 20A label supplied with the unit to cover the 230Vac 10A input
specification above the rear panel AC connector.

6. Install a 130Vac 25Amp plug and cord ensuring that the neutral (white) wire and line (black) wire
are connected in the correct positions and that the safety ground wire is connected to the ground
SCTew.

2.3.2 InputLine Impedance

The maximum input line impedance for operation at full rated output is 1 ohm. Higher source impedances can
be tolerated by raising the input line voltage or by reducing the output voltage and/or current.

2.3.3 Ventilation Requirements
The XKW power supply may be used in rack mounted or benchtop applications. In either case, sufficient space
must be allowed for cooling air to reach the ventilation inputs on each side of the unit and for the fan exhaust

air to exit from the rear of the unit.

2.3.4 Output Voltage Biasing

WARNING
Use extreme caution when biasing the output relative to the chassis due to
potential high voltage levels at the output terminals and J3 connector pins.

If the output voltage is to be biased relative to safety ground, the power supply outputs may be biased up to a
maximum of 600Vdc with respect to the chassis.

2-2 Release 5.1 (96/12)



IIDIIINIININIIDNOINOIDOIDIIOIOOOIOOODPDOOOOOOPP0000030000000080008|

XKW 1000 WATT SERIES INSTALLATION AND OPERATION

2.3 Installation
2.3.5 Rack Mounting

The XKW power supply is designed to fit in a standard 19" equipment rack. Use the rack mount brackets at
cither side of the front panel to install the power supply in a rack. Use adjustable support angles such as
Hammond RASA22WH2, or a support bar such as Hammond RASB19WH?2. To install with rack mount
slides, use a typical slide kit such as the ZERO C-300 S-18.

2.4 Functional Tests

Before connecting the unit to an AC outlet, make sure that the power switch is in the OFF position and that
the voltage and current controls are turned fully counter clockwise. Check that the J3 mating connector on the
rear of the unit is in place with jumpers connected for local operation as shown below. (This is the default
configuration as shipped from the factory). Connect the unit to a 230Vac grounded outlet (115Vac outlet if
previously configured for 115Vac operation as per instructions in Section 2.3.1) and switch the unit on.
After a short power on delay the front panel meters should light up with both displays reading zero.

13 1
W e oo dost
25 14

Figure 2.4-1 Connector J3 Configuration for Local Operation
2.4.1 Voltage Mode Operation
To check voltage mode operation, proceed as follows:

e  Connect a DVM, rated better than 0.5% accuracy, to the rear output terminals, observing correct
polarity.

e Rotate the CURRENT control 1/2 turn clockwise. Slowly rotate the VOLTAGE control clockwise and
observe both the internal and external meters. Minimum control range should be from zero to the
maximum rated output. Compare the test meter reading with the front panel voltmeter reading. Check
that the green voltage mode indicator led is ON.

¢  Set the POWER switch to OFF.

Release 5.1 (96/12) 2-3




INSTALLATION AND OPERATION XKW 1000 WATT SERIES

2.4

24.2

Functional Tests

Current Mode Operation

To check current mode operation, proceed as follows:

2.5

Rotate the VOLTAGE and CURRENT controls fully counterclockwise.

Rotate the VOLTAGE control 1/2 turn clockwise.

Connect a high current DC ammeter across the rear output terminals, observing correct polarity.
Select leads of sufficient current carrying capacity and an ammeter range compatible with the
unit's rated current output. The ammeter should have an accuracy of better than 0.5%.

Set the POWER switch to ON.

Rotate the CURRENT control slowly clockwise. The control range should be from zero to the
maximum rated output. Compare the test meter reading with the reading on the front panel

ammeter. Check that the red current mode indicator led is ON.

Set the POWER switch to OFF.

Controls, Connectors, and Indicators

CAUTION
All remote programming input and monitoring lines are internally
referenced to the supply's negative output. Do not reference remote
programming or monitor lines to the supply's positive output. J3 pin 6
(ground) is directly connected to the supply’s negative output. Do not
connect this pin to the positive output or to the chassis.

Please refer to Figure 2.5-1 for front panel controls and indicators, Figure 2.5-2 for rear panel connectors
and switch details, and to Figure 2.5-3 for a description of the J3 Program, Sense, and Monitor Connector.

2-4

Release 5.1 (96/12)



Z
o
T
<
o
1]
o
0]
(]
pd
<
zZ
(o]
. '300W WI07T NI 39vL70A
T LNdLNO 3HL L3S OL @3S ¥3LIWOTINILOD NANLTLIAW
M 104INDD 339L70A LNdLND
= 300W WO NI LTWTT IN348n3 HILIAS d3M0d v
—m 1NdIND 3HL L3S 0L G3SN d3ILINOTLNALOL NINLLLTINW
7 THAINDD LN3AND LNdLND 4IAYIAE LINDHII LNdMT D9
Z
(- _m% BadnSiEnc 5 XX=XX  13q0W M1 _ _ a
AN3HNND D0 SL74A 20 O
138 dAD 138 0L SSR
) O —am O awan wvy o ows O O O O !
INJaN3 3991704 . W3y s 4AD lsnivLs JO8LNOD DY
_ _J
HILIHY WL ———’ 037 3004 LINZAAND el T e
(3S dAD
43LIWLTOA T9LIDIT 037 300w 399LI0A ¥ALIWOLINILOL 1SNrQY dAD
'NOILIONOD JANLYHIdWILYIAO0 TeNAILNL Ny 'LINJYID NOTLI3LOMd ID9LIOA
0L 30T NMOOLNHS A7ld<NS d3M0d S3LVIIANT J3A0 3HL 40 NOTLWAILIV SILWIIANT
(il (dAD
037 3aNLea3dWIL d3A0 037 NOILO3L0Wd 309170A ¥3AD
"LINJNID
‘NOILdO €149 HiIA T3sn NMOOLNHS 3LOW3d 3HL 40 NOILWAILIY S3ILYIIANI
() @S
037 C3ssHIy — h @37 NADTLNHS
'NO1Ld0 €14D HLIM €3sn DNTWWY3008d ILOWIY AE NOILY&34D SILYILONT
()]
ul (GEN) ) (W3
= 037 1SINOTY I0IAAIS 037 3L0W3Y
w
w
T
T
=
o
=]
o
-
X
x

PPN RO RNl rRNOEReECEeEREEEeEeEYREeEeRETYETCEETETeRETeEee

Figure 2.5-1 Front Panel

2-5

Release 5.1 (96/12)



XKW 1000 WATT SERIES

INSTALLATION AND OPERATION

NOILYILINIA a04 3aIS NO
JINYAYIT] JLYNO3AY A0V

(4200 N340

LNdind JAILYDIN 9T
3SNIS ALY v
iNdINg 3ALLISCH €2
= 3EN3S FALLISOE T

LINQ HI¥Y3 HLIM (317ddNS 3ay

SNId L3XJ0S ONV JOLIINNDD ONILYW
'STIMON AD0S ONy ‘00E ‘0ST 304
A0LJ3NNOD 3SN3S ONV LndLlnd

‘NDILYIIINIA d0J 3QIS NO
JONvay3TI 31vN030v A07W

'NOTLYINITIINDD 1INP43T
NI L3S NMOHS S3HILIMS
834 NIYW NO ATTONYILIND T3INNOW

J0L33713S_ 3ONYY ONIWWYHOO¥d
TAS HILIAS

YIYNYD NI 3AYW

SL3ITLND NOILVTIINIA LON¥1SE0 LON 0T

~

eloje)e|| o
-@

N[ -
@8 &

er T 000000000
ON WId3s

vl c.
T 000000000 o000
ﬂ@ S 000
i mooo

— 000000000
== Ndin] I ==

‘37€v13373S SLIOA Qe2/cT!
¥0403NNDT LNINT v

MIYIS ONNOAT AL3AYS LNdANI 29

"NOTLYSNOLINDD L1943 NI NADHS SHIdWNr
40LO3INNOD JOLINOW ONY '3SN3S 'Wyo0dd €

_J

(S7300W ADS-8)
SN LNdlnd JAILISOd

(S7300W ADe-8)

SNE LNd1NO JAILYDIN

Figure 2.5-2 Rear Panel

Release 5.1 (96/12)

2-6




INSTALLATION AND OPERATION

XKW 1000 WATT SERIES

3OVLI0A LNdINO _%00L=0 SLN3S3ad3y INdIND AS-0
SOLINOW 32VLI0A LNdING d3LvagITvONN 61 Nid

430 LNDHID d10 = (A0) T¥NSIS MO

Q3LVAILOY LINJHID d10 = (SWHO L HONOMHL AGL+) T¥NSIS HAIH
TYNDIS FHNLVIIdWILLAIAO 81 Nid

440 LINOYID dAD = (SWHO 1l HONDEHL AGL-) TWNDIS MOT

QILVAILDY LINJHID dAO = (SWHO L HINGCHHL ASL+) TYNSIS HAIH
WNOIS SNLYLS dAO Z1 Nid

NOILYENDIINGD LINV43A NI £F Nid OL 03d3gnne
INIANTEO0Hd dAD INLSISIH
310N3Y 40 TOELNOD dAD 19201 704 I0HM0S INIHIND VW, 91 Nid

(JONYA3dAI 308N0S WHO AL HONOYHL) INLNO “XNY 9PAZL+ S| NId

1NdLNC AlddNS 40 NMOJLNHS 21907 JAILYOIN HO 3AILISOd
LNaNI NMOQLNHS TLL ¥1 Nid

NOILVENIIINOD LINVAIA N {Z#NId 0L g3g3dinnr

HOIMS T¥I0T/3LONFY LiNDHID TOMINOD 39¥LTOA 07 Nid

NOILYENIIINOD _L1INV43A Ni 0Z#NId GL Q3¥3dwnr

ONIAAYHOOSd 3AIISISIH 3LOWIA 04 _J3SN 0STY
NOILVENOIINOD 11N¥430 NI HOLMS TvOQT/3L0N3d 13S OL d3sn

LINJAID T04INOD I9VLI0A ¥04 304N0S INIYAND YW 12 Nid
vl NOILY=NOENGD LINV43Q NI £ZANId 0L Q3uIdnn
ONINWYED0NE JALSIS3E 3LONIN ¥04 035N 0STY
NOIUVHMNDIANGD LINV430 NI HOLIMS TW20T/3L10A3N 13S 0L 03sn
1N3EI0 T0HINCD IN3B¥ND 804 32€N0S INIMMND VWi ZZ Nid
NOILYHNSIANGD, 11NY43Q NI ZZ#NId OL a3s3dnne
HOLIMS T¥2Q7/3LONTd LINJHID TOMINOD INZHNND T Nid
NOUVHNOIINGD LINW430 NI ZL#NId 01 GII4nNr
(AINO SNOJLO3NNOO 3SN3S w201 MO4) NENLIE IN&LN0  ¥Z Nid
/ SUNN ADDS ONY ACDE 'ADSL NO Q3ILO3NNOD 10N
NOLLYNNOIANGD LINV230 N £1ENId 01 g3s3dint
e (AINO SNOILDINNGD 3SN3S %207 ¥04) IndInG 3ALSOd  SZ Nid

Gz

= (=) n& nm
gy Quup B %

..

JQAADEL—CL 20 JWAOSZ-—-Z1L
LAdNI NMOJLNHS 24/0v

STVNOIS LNdNI NMOQLNHS 404 NYNL3Y Z Nid
NOILYHNIIANGD 19Nv430 NI 91# NI 0L @393dwnr
1NdNI AQL=0 d0 AS—0 318VLD313S HOLIMS
LNdNI WYE904d dAO JLONIH € Nid
2CCAN ONINWYHSOND w307 = (AD) TWNOIS MmO
300N ONINWVHI0HE LONIY = (SAHD 1! HONOWHL ASL+) TWNOIS HOIH
HOLYDIANI ONINAYHO0Yd FION3Y + Nid
NOILYII40 Q0N INIYIND = [(SHHG 4L HINOHHL AGL-) TWYNOIS MO
NOILYY340 300N 3DVLI0A = (SMHD Al HONOHHL ASI+) TWNDIS HIIH
SOLVIIONI 300N ONILVYE3d0 S Nid

ANAOYO AlddNS AYYIIXNAY 9 NId

JOVLI0A INDINO 3HL 40 %001L—Q SINISINIY
LNdLNO AQL—0_HO AG—0 F18¥L2313S HILMS
JOLINOW IN3JYND iNdinG d3Lvyanvd £ Nid

P
a

(

7
_—

L

gl

(NOILY¥NOIANOD LINV43Q) 3SNIS T¥O01 ¥04 SZfNid OL O343dnnr
ISNIS 3AILISO4 €1 Nid

(NOILVINOIINGD 1INV430) 3ISNIS WOOT ¥04 vZ#NId_OL Q3d3dmnr
SN3S N¥NI3d 21 NId

/ SLNN ADDS ONV AQOE 'ADSL NO Q3L03NNOD LON

. zoE\mno_.._zouh_:«.._moz_o_.*z_n_okaummn_zzj

b§_._HmemDUHgaSoLooz_z:_qmoomn_?cToIz_n_
N NOILYENOENDD L1nv43d NI LIENID 0L g3¥adine

LNdNI ONINAYYOOHd 1IN IN3H8ND OL Nid

NOILYHNOINOD 1INV43Q NI 8#NId QL d3¥3dANr

N\, SINdNI ADL—-0 80 AG—0 ¥OJ 318VIDITIS HOLMS

SINGNI AQL=0 ¥0 AS—0 404 378VLO313S HOLMS
LNdNI ONIWAYHEO0Ed OVLT0A LNGINO 6 Nid

N\ NOLLYENOIANOD L1NV43Q Ni 6fNId 01 Q3yIdnne
J9VLI0A INdINO 40 ONINAVY903d YWLl—-0 8 Nid

Figure 2.5-3 J3 Program, Sense, and Monitor Connector Description

to the supply output.

iased relative

d may be b

10N an

1, 2, and 14 form an isolated control funct

J3 pins

Note

2-7

Release 5.1 (96/12)

RI1X3212X XX X Iy’ yr'rrr™™



INSTALLATION AND OPERATION XKW 1000 WATT SERIES

2.6 Load Connection

Reliable performance of the XKW power supply can be obtained if certain basic precautions are taken when
connecting it for use on the lab bench or installing it in a system.

To obtain a stable, low noise output, careful attention should be paid to factors such as conductor ratings,
system grounding techniques and the way in which the load and remote sensing connections are made.

2.6.1 Load Conductor Ratings

The table below lists the maximum allowable load wiring length (in feet) for a specified wire gauge and power
supply model operating at full rated output. The lengths indicated are based on PVC insulated wire with a
maximum operating temperature of 105 ° C. To overcome impedance and coupling effects which can degrade
the power supply performance, the use of leads of the largest gauge and shortest length possible is
recommended.

WIRE SIZE (AWG)

MODEL 2 4 6 8 10 12 14 16 18
8-125 19 12 - - - - - - -
20-50 30 30 30 23 - - - - -
33-33 30 30 30 30 22 14 - - #
40-25 30 30 30 30 30 18 - - =
60-18 30 30 30 30 30 26 16 10 »
80-13 30 30 30 30 30 30 22 20 -
150-7 30 30 30 30 30 30 28 26 =
300-3.5 30 30 30 30 30 30 30 30 -
600-1.7 30 30 30 30 30 30 30 30 30

TABLE 2.6-1 LOAD CONDUCTOR RATINGS

2.6.2 Load Connection and Grounding

WARNING
Use extreme caution when biasing the output relative to the chassis due to
potential high voltage ievels at the output terminals and J3 connector pins.

WARNING
Exercise caution when using and servicing power supplies. High energy
levels can be stored at the output voltage terminals on all power supplies in
normal operation. In addition, potentially tethal voltages exist in the power
circuit and the output connector of power supplies which are rated at 40V
and over. Filter capacitors store potentially dangerous energy for some time
after power is removed.

Proper connection of distributed loads is an important aspect of power supply application. A common mistake
is to connect leads from the power supply to one load, from that load to the next load, and so on for each load
in the system. In this parallel power distribution method, the voltage at each load depends on the current
drawn by the other loads and DC ground loops are developed. Except for low current applications, this method
should not be used.

The preferred way to distribute power is by the radial distribution method in which power is connected to
each load individually from a single pair of terminals designated as the positive and negative distribution
terminals. The pair of terminals may be the power supply output terminals, the terminals of one of the loads or
a distinct set of terminals especially established for distribution. Connecting the sense leads to these terminals
will compensate for losses and minimize the effect of one load upon another.

2-8 Release 5.1 (96/12)




BIFIIIIIINIIBINIIDIDIIIIIBDIIDIDIIDPIIIBPIOPOOP0000000008000600|

XKW 1000 WATT SERIES INSTALLATION AND OPERATION

2.6 Load Connection
2.6.2 Load Connection and Grounding (continued)
Inductive Loads

To prevent damage to the power supply from inductive kickback, connect a diode (rated at greater than the
supply’s output voltage and with a current surge rating greater than or equal to the supply’s output current
rating) across the output. Connect the cathode to the positive output and the anode to return. Where positive
load transients such as back EMF from a motor may occur, connect a transorb or a varistor (with a breakdown
voltage approximately 10% higher than the rated supply output) across the output to protect the power supply.

2.6.3 Output Cord Strain Relief

Assemble the strain relief from supplied pieces and attach it to the DC output connector on 150V, 300V, and
600V models to provide support for the output cord.

Parts Supplied

e Two (2) pieces of 6 position, cap housing strain relief (part number MI-6407-210)
e Two (2) #6-32 x 5/8" screws (part number MS-6P12-10)

Assembly Instructions

1. Snap off the rectangular bushing attached to each piece of the strain relief. See Figure 2.6-1.

= ol SCREW HOLE

TAB| A_—!

i s

==n
L

BUSHING

Figure 2.6-1 Strain Relief
(One piece, inside view)

2. Install bushings on strain relief pieces, as required. Cable diameter must be between 0.120" and
0.650"

3. Insert strain relief tab A into DC output connector slot A. Insert strain relief tab B into DC output
connector slot B. See Figure 2.6-2.

4. Install screws in holes provided on outside of strain relief pieces. Thread through to screw standofl
inside opposite piece. Tighten to clamp outer jacket of output cord securely, ensuring that the side of
the strain relief slips into the corresponding rabbet on the opposite piece.

SLOT B

DC OUTPUT
CONNECTOR
SCREW ’,?AB .
% [¢
SLOT A
T——TAB A

BUSHING=

BUSHING %
SCREW

STRAIN RELIEF
Figure 2.6-2 Strain Relief Assembly

Release 5.1 (96/12) 2-9




INSTALLATION AND OPERATION XKW 1000 WATT SERIES

2.7 Local and Remote Sensing

The use of remote sensing permits the regulation point of the power supply to be shifted from the output
terminals (local sensing) to the load or other distribution terminals, thereby automatically compensating for
the voltage losses in the leads supplying the load (provided these losses do not exceed 0.5V/line for the 8V
model or 1V/line for all other models). For example. with the voltmeter reading 10.0 volts and the sense lines
connected directly to the load. the load voltage will remain regulated at 10.0 volts regardless of the voltage
drops in the power leads and variations in the load current.

On 8V. 20V. 33V, 40V, 60V, and 80V models, the positive sense connection is available at pin 13 of
connector J3 and the return sense connection is available at pin 12. For local sensing (regulation at the power
supply output terminals), the sense pins are connected to pins 25 (positive output) and 24 (return) of connector
J3. For remote sensing, the local operation jumpers are removed and pins 13 and 12 are connected directly to
the positive and negative terminals of the load.

On 150V, 300V, and 600V models, the sense connections are available through the output connector. (See
Figure 2.5-3 for the exact pin out.) On these models, no sense line jumpers are required for local operation.

Sense wires can be any size (24AWG or larger) but in high noise environments or when the lowest possible
power supply ripple is required, sense wires must be twisted and/or shielded.

Note: On 8V to 80V models the sense leads must always be connected, either for remote or local sensing.
Operation of the supply with the sense leads disconnected will cause the output to fall to zero or to
be unregulated.

NEVER use the sense connections without the normal power lead connections to the output terminals. Avoid
reversing positive and negative sense lead connections.

2-10 Release 5.1 (96/12)




BIIIIIIIIINIIIIIDIIIDIOODPODIO000000000000080000000080000|

XKW 1000 WATT SERIES INSTALLATION AND OPERATION

2.8 Single Supply Operation (Local Mode)

To operate the XKW power supply in local mode, first install the unit and connect the load following the
instructions in Sections 2.1 to 2.7. For further information sec Section 2.12 for complete description of
switch SW1 functions. Sec Figure 2.5-3 for J3 connector pinouts.

SWITCH SW1 CONNECTOR J3
OPEN
m 13 1
=8 &~8 O O 0O O oo
\\ ) @y O O O jo 0/
25 14
— N ™M <Cl' [te] ™~ 00
| | | | | | !
= = =222z 3z
w o un unno v n v
Figure 2.8-1 Switch SW1 and Connector J3 Configuration for Local Operation
(Default factory settings)
28.1 Setup

Check that switch SW1 (mounted internally on the main printed circuit board) is set for local operation (the
factory default) and that the J3 mating connector on the rear of the unit is in place with jumpers connected for
local operation (also the factory default). See Figure 2.8-1. Set both the current and voltage controls fully
counterclockwise.

2.8.2 Voltage Mode Operation

For voltage mode operation, turn the current control fully clockwise and then adjust the voltage control to
obtain the desired output voltage.

2.8.3 Current Mode Operation

For current mode operation, turn the voltage control 1/2 turn clockwise, the current control fully
counterclockwise and connect an appropriately-sized shorting jumper across the output terminals. Turn the
current control clockwise until the desired output current is obtained. Turn the power supply off, remove the

shorting jumper, turn the voltage control fully clockwise and turn the power supply on.

Note that for a short period (less than 2 seconds) after power on, the power supply output is disabled and the
current mode LED is illuminated while the main filter capacitors charge through the inrush limiter.

Release 5.1 (96/12) 2-11




INSTALLATION AND OPERATION XKW 1000 WATT SERIES

2.9 Multiple Supplies

CAUTION
All remote programming input and monitoring lines are internally
referenced to the supply’s negative output. Do not reference remote
programming or monitor lines to the supply’s positive output. J3 pin 6
(ground) is directly connected to the supply's negative output. Do not
connect this pin to the positive output or to the chassis.

XKW Series power supplies of the SAME MODEL may be operated with outputs in series or parallel to obtain
increased load voltage or current. Split supply operation allows two positive or a positive and negative output
to be obtained.

Note: If your application requires the use of isolated programming inputs, contact the factory about the
optional ISOL interface.

2.9.1 Series Operation

CAUTION
Do not use remote sensing during series operation.

Series operation is used to obtain a higher voltage single output supply using two or more single units.
Connect the negative terminal (-) of one supply to the positive terminal (+) of the next supply. The total
voltage available is the sum of the maximum voltages of each supply (add voltmeter readings). The maximum
allowable current for a series string of power supplies is the rated output current of a single supply in the
string.

Note: The maximum allowable sum of the output voltages is 600V. This is limited by the voltage rating of
certain internal components.

2.9.2 Parallel Operation
Parallel operation is used to obtain a higher current single output supply using two or more single units. Set all

of the outputs to the same voltage before connecting the positive terminals (+) and negative terminals (-) in
parallel. The total current available is the sum of the maximum currents of each supply.

Sensing for Parallel Operation

Use default local sensing to enhance power sharing between units, as the impedance of the load lines will tend
to correct for current imbalance. If you use remote sensing at the load for better voltage regulation, one supply
always operates in current limit mode and supplics most of the power.

2-12 Release 5.1 (96/12)

N

L gl
|

i

PEFEEEED

—h N N E N N B NN

E R



IIIIIIINIBIIBIIIDIDIDDDDDOIDIDDIIDPPIPBIDODIOPOPO00000800800048|

XKW 1000 WATT SERIES INSTALLATION AND OPERATION

2.9 Multiple Supplies
2.9.2 Parallel Operation (continued)

OVP for Parallel Operation

CAUTION
To prevent internal damage, ensure that the OVP trip level of all supplies is
set to maximum.

CAUTION
Disabling the OVP circuit will not allow for protection of the load in the
event of a remote programming error, incorrect voltage control adjustment,
or power supply failure.

If you should have a problem with external transients tripping the OVP circuit, you have two solutions. One is
to add a diode in series with the output line or the return line. This diode must have a reverse voltage and
current rating greater than the power supply output. The second solution is to disable the OVP circuit by
removing transistor R93 from the A2 PCB.

2.9.3 Split Supply Operation

Split supply operation is used to obtain two positive voltages with a common ground, or a positive-negative
supply.

To obtain two positive voltages, connect the negative terminals of both supplies together. The positive
terminals will supply the required voltages with respect to the common connection.

To obtain a positive-negative supply, connect the negative terminal of one supply to the positive terminal of
the second supply. The positive terminal of the first supply then provides a positive voltage relative to the
common connection while the negative terminal of the second supply provides a negative voltage. The current
limits can be sct independently. The maximum current available in split operation is equal to the rated output
of the supplies used.

Release 5.1 (96/12) 2-13




INSTALLATION AND OPERATION XKW 1000 WATT SERIES

2.10 Over Voltage Protection (OVP)

The OVP circuit allows for protection of the load in the event of a remote programming error, incorrect
voltage control adjustment, or power supply failure. The protection circuit monitors the output and reduces the
output voltage and current to zero whenever a preset voltage limit is exceeded. A red LED on the front panel
indicates when the OVP circuit has been activated. Resetting the OVP circuit after activation requires removal
of the overvoltage condition and powering the unit OFF and back ON or momentarily activating the remote
shut down circuit. See Section 2.11 for information on shutdown circuit operation. The OVP trip level can
be set using either the front panel potentiometer or by using one of three remote programming methods
(voltage, resistance or current) through the J3 connector at the rear of the unit. Please see Section 2.9.2 for
how to disable OVP for parallel operation.

2.10.1 Front Panel OVP Operation
To set the trip level from the front panel use the following procedure:

1. With the unit off and disconnected from its AC source remove the cover and check that switches
SW1-4 and SW1-8 are closed (factory default setting). Also check that the jumper between pins 3 and
16 of connector J3 is in place.

2. Using a small, flat-bladed screwdriver through the OVP ADJU ST hole in the front panel, turn the
adjusting screw fully clockwise (until audible clicking is heard or 20 turns maximum).

3. Turn the unit on and adjust the output to the desired trip voltage.

4. Slowly turn the adjusting screw counterclockwise until the red OVP indicator lamp lights.
5. Tumn the POWER switch to OFF.

6. Turn the voltage control knob to minimum.

7 Turn the POWER switch back ON and increase the voltage to check that the power supply shuts off
the output at the desired voltage.

2-14 Release 5.1 (96/12)

A NN A



lODDODOOOOO’IDODDlil’llllllll.llllllllllllllllllllllllllll

XKW 1000 WATT SERIES

INSTALLATION AND OPERATION

2.10 Over Voltage Protection (OVP)

2.10.2 Remote Programming of OVP With External Voltage Sources

To remotely program the OVP trip level using a 0-5V or 0-10V DC voltage source use the following
procedure.

1.

With the unit off and disconnected from its AC source, remove the cover and set switch SW1-4 closed
(default factory setting) for 0-5V programming or open for 0-10V programming, Also check that
switch SW1-8 is closed (default factory setting). Set the front panel OVP adjusting potentiometer fully
clockwise (until audible clicking is heard or 20 turns maximumy).

Remove the default jumper connecting pins 16 and 3 of connector J3 and connect the voltage source
between pins 3 (positive) and 12 (negative). Set the programming source voltage to maximum.

Turn the unit on and adjust the output to the desired trip voltage.

Slowly reduce the programming voltage until the red OVP indicator lamp lights and the power supply
shuts down.

Turn the POWER switch to OFF.

Turn the voltage control knob to minimum.

Turn the POWER switch back ON and increase the voltage to check that the power supply shuts off
the output at the desired voltage.
SWITCH SW1 CONNECTOR J3
OPEN 1512 3 1
—f &—6 0 O 0 0 ¢ O O
(Qsat\o—o e~8 0 0 0 OO q/
25 14
CLOSED
~— N M < N O I~ 00
| | | | | | | I _._| ’ | }7
=z =z =2 =2 2==3 +
(VNN V2 B VO N VO RN V) BEN 75 BN VA BN V2]
0-5V

Figure 2.10-1 Switch SW1 and Connector J3 Configuration for 0-5Vdc OVP Programming

(J3 sense line, voltage control and current control jumpers shown set for local operation)

SWITCH SwW1 CONNECTOR J3
OPEN 1312 3 1
G = O O 0 0 @ O O
\\%Hi—ﬂoooooJ
25 14
CLOSED
— N M < W © M~
[ N _{I |}_
z z 2 2 2 =2 = = +
" un n n un N om
0-10v

Figure 2.10-2 Switch SW1 and Connector J3 Configuration for 0-10Vdc OVP Programming

(J3 sense line, voltage control and current control jumpers shown set for local operation)

Release 5.1 (96/12) 2-15




INSTALLATION AND OPERATION XKW 1000 WATT SERIES

2.10 Over Voltage Protection (OVP)

2.10.3 Remote Programming of OVP with an External Resistance
To remotely program the OVP trip level using a 5k ohm external potentiometer, use the following procedure.

1. With the unit off and disconnected from its AC source remove, the cover, set switch SW1-8 open and
check that switch SW1-4 is closed (default factory setting for swiich SW1-4).

2. Connect the counterclockwise end of the 5k potentiometer to pins 3 and 16 of connector J3. Connect
the tap and the clockwise end of the potentiometer to pin 12. Set the potentiometer fully clockwise.

3. Turn the unit on and adjust the output to the desired trip voltage.

4. Slowly turn the potentiometer counterclockwise until the red OVP indicator lamp lights and the
power supply shuts down.

5. Turn the POWER switch to OFF.
6. Turn the voltage control knob to minimum.

7. Turn the POWER switch back ON and increase the voltage to check that the power supply shuts off
the output at the desired voltage.

SWITCH SW1 CONNECTOR J3
OPEN 1312 10 3 1
e o—b 0 0 0 O o 0
\; ¥H =8 0 0 O ,oJ
25 22 16 14

—~ v~ v~ ~ Y~ v =

5k OHMS

Figure 2.10-3 Switch SW1 and Connector J3 Configuration for 0-5k OVP Programming
(J3 sense line, voltage control and current control jumpers shown set for local operation)

2-16 Release 5.1 (96/12)

|8

A B

.

.-



EALLERRL R R ERERERRREEREREEEREEREERRRRRRRRRRR NN RN R R A R R N R R K X

XKW 1000 WATT SERIES

INSTALLATION AND OPERATION

2.10 Over Voltage Protection (OVP)

2.10.4 Remote Programming of OVP with External Current Sources

To remotely program the OVP trip level using a 0-1mA current source, use the following procedure.

L

With the unit off and disconnected from its AC source, remove the cover and set switches SW1-4 and
SW1-8 closed (default factory setting).

Using a small, flat-bladed screwdriver through the OVP ADJUST hole in the front panel, turn the
adjusting screw fully clockwise (until audible clicking is heard or 20 turns maximum).

Remove the default jumper connecting pins 16 and 3 of connector J3 and connect the current source
between pins 3 (positive) and 12 (negative). Set the programming source to 1mA.

Turn the unit on and adjust the output to the desired trip voltage.

Slowly reduce the programming current until the red OVP indicator lamp lights and the power supply
shuts down.

Turn the POWER switch to OFF,
Turn the voltage control knob to minimum,

Turn the POWER switch back ON and increase the voltage to check that the power supply shuts off
the output at the desired voltage.

SWITCH Swi1 CONNECTOR J3
‘\\Spo e=a 0 0 ootao‘7
b 6—8 0 0 O olo o
25 14
TaR YR e &)
- +

= v Y~ Y T v v

0—-1mA

Figure 2.10-4 Switch SW1 and Connector J3 Configuration for 0-1mA Current Source OVP

Programming

(J3 sense line, voltage control and current control jumpers shown set for local operation)

Release 5.1 (96/12) 217




INSTALLATION AND OPERATION XKW 1000 WATT SERIES

2.10 Over Voltage Protection (OVP)

2.10.5 Remote OVP Sensing

The default configuration for the OVP circuit senses the output voltage at the power supply output terminals.
For applications using remote sensing where there is a need to accurately monitor the actual load voltage, the
following procedure allows the OVP sense point to be shifted from the power supply output to the sense line
connection points.

1. Shut the unit off and disconnect it from its power source. Remove the cover from the unit.

2. Using a sharp exacto knife, cut the component side trace connecting the right hand side of resistor
R89 to the via marked OVP-LOC.

3. Install a piece of insulated #22 AWG wire from the via marked OVP-RMT C (near the trace cut just
made) to the via marked OVP-RMT C1 (near capacitor C51).

4. Reinstall the cover and reconnect the unit to its power source.

To return to local OVP sensing, remove the jumper installed in step 3 above and install a jumper across the
trace cut made in step 2.

2.11 Remote ON/OFF

CAUTION
The external voltage applied to pins 1 and 2 (Shutdown input and return)
cannot exceed 250V rms with respect to the supply’s negative output or the
supply may be damaged.

This feature is useful in test applications requiring remote ON-OFF control of the output. The remote ON-OFF
control circuit uses either a TTL compatible or a 12-250Vac (or 12-130Vdc) input to remotely control (disable
or enable) the power supply output. For TTL operation, a logic level signal between pins 14 (positive) and 2
(return) of connector J3 determines the output conditions:

TTL LOW = OUTPUT ON
TTL HIGH = OUTPUT OFF

For AC or DC operation, an input of 12-250Vac (or 12-130Vdc) between pins 1 (positive for DC input) and 2
(return) of connector J3 will disable the output of the supply.

A red LED on the front panel indicates when the shutdown circuit is activated. The input lines are optically
isolated and can therefore be accessed by circuits with a voltage differential of up to 600Vdc.

2.11.1 Remote ON/OFF by Contact Closure

An external relay may be used to operate the ON/OFF control circuit as follows. Connect one side of a
normally open relay to pin 15 of connector J3 (+12V). Connect the other side of the relay to pin 14 (TTL
Shutdown). Also connect J3 pin 2 (Shutdown return) to pin 6 (Ground). Using this configuration, the power
supply will be OFF when the relay coil is energized and ON when the relay is de-energized.

If a normally closed relay is substituted for the normally open relay in the configuration described above, the
power supply will be ON when the relay coil is energized and OFF when the relay is de-energized.

2-18 Release 5.1 (96/12)



PIIIIIIIIIISPIIOIIPOISISOOIPISOIOISIGOSITSOIOSITIOSICETITITIIOICSTSTOICOOOCOCOQQCTOR Q|

XKW 1000 WATT SERIES INSTALLATION AND OPERATION

2.12 Remote Programming of Output Voltage and Current Limit

2.12.1 Remote Programming Switch SW1

CAUTION
The remote programming input is internally referenced to the supply's
negative output. Do not connect remote programming input lines (J3 pins 9
and 10) to the supply's positive output.

The output voltage and current limit of the power supply can be remotely programmed through the rear panel
J3 connector (Figure 2.5-3) using external voltage sources, current sources, and resistances. Switch SW1 on
the A2 printed circuit board controls the programming as diagrammed below. When the supply is controlled
by remote programming, the green REMOTE led on the front panel is illuminated.

OPEN (OFF)

s im!

CLOSED (ON)

T ONM WD O ™S00
N

T sy v v s v v~— +—

z=z=====%
[CARVANVANTANARIARIANA)
SELECTS REMOTE CURRENT | | 'gEg,ESCTT,EER(WSTE
LIMIT PROGRAMMING SCALE PROGRANMING
OPEN=REMOTE OVP
E)E%)EGCRTASMSI%\I%OTSECAVL%LTAGE CLOSED=LOCAL OVP (DEFAULT)
OPEN=0-5Vdc (DEFAULT) NOT USED
CLOSED=0—-10Vdc
SELECTS REMOTE OVP

PROGRAMMING SCALE
OPEN=0-10 Vdc
CLOSED=0-5Vdc (DEFAULT)

Figure 2.12-1 Switch SW1 Functions
(Default Settings Shown)

Notes:

1. SW-1 and SW-2 are used in combination to select 0-5Vdc, 0-10Vdc, and 0-100mA. See
Table 2.12-1 for settings.

2. To set switch SW1 shut the unit off, disconnect it from its AC source and remove the cover. Make the
appropriate switch settings then reinstall the cover and reconnect the unit to its AC source.

Release 5.1 (96/12) 2-19




INSTALLATION AND OPERATION XKW 1000 WATT SERIES

2.12 Remote Programming of Output Voltage and Current Limit
2.12.2 Programming With External Voltage Sources

The output voltage can be programmed using either a 0-5Vdc or 0-10Vdc external voltage source. To
program the output voltage with a 0-5Vdc source, set switch SW1-3 open (default factory setting) and remove
the jumpers connecting pins 8 to 9 and 20 to 21 on connector J3. Connect the external source between pins 9
(positive) and 12 (return). Varying the external voltage from 0-5V will cause the output to vary from 0-100%
of rated output.

SWITCH SW1 CONNECTOR J3

OPEN 1312 9 1

G O O O O O O o o

\\Y‘Hooooojco/

25 14
[ T I R T B _| |}ﬁ
zT 2T 2T 2T EE R +

[V NV I RN ) RNV RN V) BN V0 B )]
0-5V

Figure 2.12-2 Switch SW1 and Connector J3 Configuration for 0-5V Programming of the
Output Voltage
(J3 sense line, OVP and current control jumpers shown set for local operation)

For programming with a 0-10Vdc source, close switch SW1-3 and replace the 0-5V source with a 0-10V
source.

SWITCH SW1 CONNECTOR J3
OPEN 1312 9

1
\\Y.::-‘ 00 °°°°o°°°j°007
25 14

CLOSED
— &N M F D © N~ o
| | | [ | | | | _| I }7
z 2z =z =2 2 =2 = = +
nhn o »n o non

010V

Figure 2.12-3 Switch SW1 and Connector J3 Configuration for 0-10V Programming of the
Output Voltage
(J3 sense line, OVP and current control jumpers shown set for local operation)

The output current limit can be programmed using a 0-100mVdc, 0-5Vdc or 0-10Vdc external voltage
source. Selection of the programming voltage is done using switches SW1-1 and SW1-2 as indicated below.

TABLE 2.12-1 PROGRAM VOLTAGE SELECTION
SW1-1 SW1-2 PROGRAMMING VOLTAGE
OPEN OPEN 0-5Vdc and Local Mode
OPEN CLOSED 0-100mVdc
CLOSED CLOSED Not Used
CLOSED OPEN 0-10Vdc

2-20 Release 5.1 (96/12)

AR



EAALRALARLRR LR LR LR ELEE R R R R R EEREERERRRRERRRRR R R R RN

XKW 1000 WATT SERIES INSTALLATION AND OPERATION

2.12 Remote Programming of Output Voltage and Current Limit
2.12.2 Programming With External Voltage Sources (continued)

To remotely program the output current limit, set switches SW1-1 and SW1-2 as shown above, remove the
Jjumpers connecting pins 10 to 11 and 22 to 23 of connector J3 and connect the external voltage source

between pins 10 (positive) and 12 (return). Varying the voltage source from 0-100% causes the current limit to
vary from 0-100% of the rated maximum.

CONNECTOR J3
1312 10

\\(-\Jo()TO?;ﬂoﬁoootlojo00{7
1 14

\ %

0-5Vv, OV OR 0—100mV

Figure 2.12-4 Connector J3 Configuration for Remote Programming of the Qutput Current
Limit
(J3 sense line, OVP and voltage control jumpers shown set for local operation)

212.3 Programming With an External Resistance

The output voltage and current limit can be programmed using a 5k ohm external potentiometer.

To program the output voltage, set switch SW1-3 open (default factory setting) and remove the jumpers
connecting pins 8 to 9 and 20 to 21 on connector J3. Connect pins 9 and 21 to the counterclockwise end of the

Sk potentiometer and connect the tap and clockwise end of the potentiometer to pin 12. Adjusting the tapped
resistance from 0-5k will vary the output voltage from 0-100% of the rated output.

SWITCH Sw1 CONNECTOR J3
OPEN 1312 9
Gt 0 0.0 00
N s esocds 7
25 i?1
CLOSED ‘
TYTITYYnT
=2 ====3z CEW
" umu nmu un n un un um 5k OHMS

Figure 2.12-5 Switch SW1 and Connector J3 Configuration for Resistive Programming of the
Output Voltage
(J3 sense line, OVP and current control jumpers shown set for local operation)

Release 5.1 (96/12) 221




INSTALLATION AND OPERATION XKW 1000 WATT SERIES

2.12 Remote Programming of Output Voltage and Current Limit
2.12.3 Programming With an External Resistance (continued)

To program the output current limit, set switches SW1-1 and SW1-2 open (default factory setting) and
remove the jumpers connecting pins 10 to 11 and 22 to 23 on connector J3. Connect pins 10 and 22 to the
counterclockwise end of the Sk potentiometer and connect the tap and clockwise end of the potentiometer to
pin 12. Adjusting the tapped resistance from 0-5k will vary the current limit from 0-100% of the rated output.

SWITCH SW1 CONNECTOR J3
OPEN 131210 1

N SARART AN
T e

CLOSED
T YRy
====2=23z=3 CCW
O nh v D S OHMS

Figure 2.12-6 Switch SW1 and Connector J3 Configuration for Resistive Programming of the
Output Current Limit
(J3 sense line, OVP and voltage control jumpers shown set for tocal operation)

2.12.4 Programming With an External Current Source

The output voltage and current limit can be programmed using an external 0-1mA current source.

To program the output voltage, set the front panel voltage control to maximum, set switch SW1-3 open
(default factory setting) and remove the jumper between pins 20 and 21 of connector J3. Connect the external

current source between pins 8 (positive) and 12 (return) of connector J3. Varying the current source from
0-1mA will vary the output voltage from 0-100% of the rated output.

SWITCH SW1 CONNECTOR J3
OPEN 1312 8 1
) S=ip O O O O o O
\\vmooooojco/
25 14
LOSE

Figure 2.12-7 Switch SW1 and Connector J3 Configuration for 0-1mA Current Programming of
the Output Voltage
(J3 sense line, OVP and current control jumpers shown set for local operation)

2-22 Release 5.1 (96/12)



DIDIDDIDIDDDDDDDDIDDDDODIDPOPPIDIOBOIPOIBIGOIIOIIOBOBOOOOGOCSSS

XKW 1000 WATT SERIES INSTALLATION AND OPERATION

2.12 Remote Programming of Output Voltage and Current Limit
2.12.4 Programming With an External Current Source (continued

To program the output current limit, set the current control to maximum, set switches SW1-1 and SW1-2
open (factory setting) and remove the jumper between pins 22 and 23 of connector J3. Connect the external
current source between pins 11 (positive) and 12 (return). Varying the current source from 0-1mA causes the
current limit to vary from 0-100% of rated maximum.

SWITCH SW1 CONNECTOR J3
oFEN 131211 1
Bt O O O O o 0
%voo.—eooojoo/
25 14
Ty U N o ()
E +

~ - Y~ v~ v~ o~ v

0—1mA

Figure 2.12-8 Switch SW1 and Connector J3 Configuration for 0-1mA Current Programming of
the Output Current Limit
(J3 sense line, OVP and voltage control jumpers shown set for local operation)

2.13 Remote Monitoring and Status Indicators

Readback signals for remote monitoring of the output voltage and current are available at connector J3 on the
rear of the unit. A 0-5V (uncalibrated) signal between pins 19 (positive) and 12 (negative) represents 0-100%
of the rated output voltage. A 0-5V (calibrated) signal between pins 7 (positive) and 12 (negative) represents
0-100% of the rated output current. The offset and gain of the current readback signal may be adjusted through
holes in the cover of the unit. See Section 4.4 Calibration for location of adjusting holes.

Status indicators for thermal shutdown, OVP operation, remote programming and operating mode are also
available through the J3 connector. Table 2.13-1 lists the various signals, the J3 connector pins where they
are available, the approximate magnitude of the signal (measured with respect to pin 6 of connector J3) and
the source impedance through which the signal is fed.

TABLE 2.13-1 STATUS INDICATORS
INDICATOR SIGNAL J3 CONNECTOR PIN SIGNAL VOLTAGE SOURCE IMPEDANCE
Thermal Shutdown 18 +10V 750Q
OVP Circuit Activated 17 +oV 750Q2
Remote Programming 4 +10V 750Q
Voltage Mode Operation 5 +10V 750Q2
Current Mode Operation 5 -3V 750Q

Note: To use a 0-10V readback signal, you must use an external instrumentation amplifier.

Release 5.1 (96/12) 2-23




INSTALLATION AND OPERATION XKW 1000 WATT SERIES

2.14 Using Over Temperature Protection (OTP)
The OTP circuit protects the power supply in the event of excessive temperature. The protection circuit
monitors the temperature of a supply heatsink using a temperature sensor, and will activate the internal
shutdown circuit whenever the maximum temperature is exceeded.
The red OTP LED on the front panel lights up when an OTP shutdown occurs.
2.14.1 Resetting the OTP circuit

To reset the OTP after it activates:

1. The supply recovers to normal operation when the over temperature condition no longer exists.

OR

1. Turn the AC power switch OFF.
2. Correct the situation causing the over temperature condition.

3. Turn the AC power switch ON.

2-24 Release 5.1 (96/12)

235

A B ]



!DDO")‘)""i‘ll’l‘l‘l’b“llliIllilillilllllllllllllllllllll.l1

XKW 1000 WATT SERIES THEORY OF OPERATION

3. THEORY OF OPERATION
3.1 Power Circuit (A2 Assembly)

WARNING

Potentially lethal voltages exist on the A2 circuit board on the primary side
of the isolation barrier and on the secondary side of the high voltage units.
Troubleshoot with care, preferably with power off and recognizing that filter
capacitors store potentially lethal and destructive energy even for some
time after power is removed. Always use an isolation transformer
connected only to the power supply input when making test measurements
on the primary side circuits.

This section describes the operation of the A2 assembly switching regulator power circuit. Three subsections
cover basic switching regulator theory, a simplified description of the full bridge converter, and a more
detailed circuit description intended for troubleshooting purposes.

3.1.1 Basic Off-Line Switching Regulator Theory

An off-line switching power supply first converts the AC input line voltage to high voltage DC by diode
rectification and then chops the DC at a high frequency. This high frequency waveform is applied to the
primary of a power transformer which provides a step-up or step-down in voltage and electrical isolation on its
secondary. The sccondary waveform is rectified and filtered, giving a smooth DC output voltage. Feedback
from the secondary circuit is applied to a pulse width modulator (PWM) control circuit which controls the on-
time of the primary circuit switching waveform. This increases or decreases the voltage on the secondary of
the power transformer so that output regulation is obtained.

The use of high frequency transformers in switching power supplics has the advantage of requiring less
volume, less weight, and dissipating less heat than the lower frequency transformers in conventional linear
power supplies.

3.1.2 Simplified Full Bridge Converter Theory
Figure 3-1 illustrates the circuit description in this section.

The input AC line voltage is rectified and filtered by CR35, C71, and C72 to a raw DC voltage which is
supplied to the power FETs Q13-Q16 on the primary of power transformer T1. Resistor R116 and relay K1
form an input surge current limiter which reduces the inrush current to the filter capacitors C71 and C72
during power-up. The power FETs and the primary winding of T1 form a bridge which is driven at 80-100kHz
(depending on the model) by pulse width modulator (PWM) U6 through FETs Q7-Q12 and drive transformer
T2. A current sense transformer T3 in the primary of the power transformer provides a feedback signal to the
PWM which is compared to a limited error signal derived from the output current and voltage conirol circuits.
The output of the comparator controls the on time of the PWM output drive waveforms on a cycle by cycle
basis thereby controlling the primary current and the output of the power transformer. Diodes CR301 and
CR302 (CR301-CR304 on models XKW 150-7 and XKW 300-3.5 and CR300-CR307 on model
XKW 600-1.7) rectify the output of power transformer T1 and inductor L3 and capacitors C51, C52, and C53
filter the rectified signal to provide the DC output.

Release 5.1 (96/12) 3-1




THEORY OF OPERATION XKW 1000 WATT SERIES

3.1 Power Circuit (A2 Assembly)

3.1.2 Simplified Full Bridge Converter Theory (continued)

A current shunt (R91) in the output return line develops a voltage dependent on the output current. This
current information is compared to the setting of the front panel current limit control in the current control
circuit (U4-2, U4-3, and U4-4). The output voltage is also monitored and compared to the front panel voltage
control setting in the voltage control circuit (U5). The outputs of the voltage and current control circuits are
ORed and this signal is fed into the PWM error amplifier inverting input providing the negative feedback
required to produce a regulated output. The output voltage and current information from the current and
voltage control circuits is also fed to the front panel Al assembly where it is displayed on the digital voltage
and current readouts.

Transformer T4, rectifier CR42, and regulators U9-U11 provide the necessary auxiliary supply voltages for the
PWM circuit, the voltage and current control circuits, the A1 metering board and the raw DC supply for drive
transformer T2. A 6.2 volt reference is also derived from the 12V supply for use in metering circuits by diode
CR1 and resistor R2.

Transformers T1, T3, and T4 provide output isolation from the line potentials in the primary circuit, the PWM
circuit and the auxiliary supply circuits respectively.

3.1.3 Detailed Circuit Description

This section is intended to provide further detail for troubleshooting purposes. Please read the previous section
as an overview and then refer to the detailed A2 assembly schematic (Figure 5.4-1) in Section 5.

Input Rectifier and Inrush Limiting

Input AC power passes from the rear panel AC connector (TB1) through an RFI filter consisting of C1-6,
R125, L1, and L2 to the front panel power switch. Both input lines are switched with one line (the neutral line
of a 115Vac input) returning to the A2 PCB and the input rectifier CR35 via fuse F1. The other input line (the
hot line of a 115Vac input) is connected to the remaining input of rectifier CR35 via front panel circuit
breaker CB1, fuse F2, and the inrush limiter formed by resistor R116 and relay K1. Resistor R116 limits the
power-on inrush current to the main filter capacitors C71 and C72 until it is shorted by K1 relay contacts. The
time delay for K1 contact closure is determined by the time constant formed by capacitor C12, resistor R118,
and the gate threshold of FET Q6. Diode CR38 discharges C12 when the 12V auxiliary supply collapses and
CR39 provides an inductive kickback path for the relay coil. During the inrush period, diode CR33 holds the
PWM shutdown line high, disabling the power supply output until Q6 turns on. Resistors R114 and R115 are
bleeder resistors for the main filter capacitors. The rectified high voltage DC from CR35 is supplied to the
main switching FETs Q13-Q16 on the primary of the power transformer T1 via fuse F3.

For 230Vac operation, rectifier CR35 and filter capacitors C71 and C72 are configured as a full wave bridge.
For 115Vac operation, the input voltage selector P1 is switched so that CR35, C71, and C72 form a voltage
doubler. In addition to determining the input rectifier configuration, P1 also switches the connections to the
primary of auxiliary transformer T4.

3-2 Release 5.1 (96/12)

i

d

)

yi



(STW NOILdO) G3HIND3Y SI dWB NOILWTIOSI N ‘L1NdLNO 3NILISOd 01 NOILJ3NNOD N1Y WOd INIHIND3Y SNOILW3ITddB NI
"LINJYID 3ISNIS 3IHL HINn NBNL3Y INdINO 0L 4311 SI NiY H9d IYHi 310N= \Tx
<
< N1y Ugdx o
4 . SLNGNI ©
(s NN oanIuWbeooud 3
S <1 TUNH3LK3 i
JOHLNDOI 3981700 LINJ¥ID
3981700 | 431311700 01 W3L3 -
T3NUd LNOHd —7 1{°] —
H313WHY OL _
. — m (€14 *11N-6N)
J0YINGD -1 N1+ 54014934
LN3HHNT _ m
™~ NS Y3WYOISNEHL
73NUd  LNOHS €7 i
BEYD ns+ <&—o neruon
(P-4 BEHs NnZi+ A
(€N Z-pN) |_I
LINOKNID £
(-]
T0HINDI = 24 14D
| IN3UHND _ )
_ £l _ €10 _ HOLYTINAOH
! 8 HLOIN 357nd
3IN343434
Nld . . = ] 1700 Z°9
3
o A 2|
o 164 . 1Z10-2)
= .m_HE ¢ z $134
(-]
3n1a
= mano | £53-157 — VY
— SIb .
5
O . :
_ rl o1
S0d 11
Z0E-10€EYD
NMOHS NOILBYN9IINOD NBST-8 “
(ST300W NBBI NO 8%-SkHI) B2 S1b Zl N
(ST3A0W N@BE NO +BE-T1BEYD) £
S7300N NBBS dNY B8BE ND d3sn 394IHg 3nuM 1Nd 1222122 5642) - s
*130 B34 R P N 1NdNI
HOHLEaT1 493 (91184 1) ¥3LINIT 39Hns i M
H31H3NNCD 39did8 71N4d J3I14171dWIS ANNE g
)
™

1 PPRRR22908919219199199191919171919191799€81¢€ 08 €€C€02CC€TCTCCECLCLLLCLECCLECECLELESL






I'!"-!'!‘!'!!'l'!'-l!lll')'ll'lllllllllll'llllillllllllllllllllllllll“

XKW 1000 WATT SERIES THEORY OF OPERATION

3.1 Power Circuit (A2 Assembly)

3.1.2 Detailed Circuit Description (continued)
Puise Width Modulator

Pulse width modulator U6 is a current mode controller which drives the main switching FETs Q13-Q16
through drive FETs Q7-Q12 and drive transformer T2. Capacitor C69 and resistors R111-R113 form a
snubber on the primary of transformer T1 limiting switching transients. Transformer T3 is used to monitor T1
primary current and provide a feedback signal for the current sense amplifier of U6. Diodes CR29 and CR30
rectify T3 output while resistors R66 and R95-R97 and capacitors C60-C62 and C64A scale and condition the
signal before it is input to the PWM. An internal PWM comparator compares the output of the current sense
amplifier with a limited error signal derived from the output voltage and current control circuits. The output of
the PWM comparator controls the pulse duration of the drive signals from pins 11 and 14 of the PWM thereby
controlling the primary current in T1 and the output power. Resistor R100 and capacitor C63 set the internal
oscillator of U6 to approximately 200kHz for 8V to 80V models, resulting in a 100kHz output switching
frequency, or to approximately 160kHz for 150V to 600V models, resulting in a 100kHz or 80kHz output
switching frequency. A 5.1V reference developed at pin 2 of the PWM is divided down by resistors R64 and
R67 to provide a reference at the non-inverting input of the PWM error amplifier (pin 5). The 5.1V reference
voltage is also divided by resistors R65 and R68 to provide a reference at pin 1 of the PWM which limits the
swing of the error amplifier output placing an upper limit on the primary current in transformer T1.

Output Rectifier Circuit and Output Filter

The XKW Series uses two different configurations for the output rectifier. The 8V to 80V models use a full
wave center tap configuration while the 150 to 600V models employ a full wave bridge. On 8V and 20V
models the output rectifiers are one piece power tap units mounted on the rectifier heatsink with the secondary
snubber components connected directly to the rectifier input terminals. The 33V to 600V models have their
rectifier and snubber components on a separate printed circuit board which is mounted on a rectifier heatsink.
Capacitors C51-C53, power inductor L3 and common mode inductor L4 form the main output filter on all
models. On 8V to 80V models the secondary filter capacitors C401-C407 are on a separate PCB which is
mounted on the output busbar assembly. On 150V to 600V models the secondary filter capacitors C50, C50A,
C50B, C50C, C48, C48A, C48B, C49, C49A, and C49B are mounted directly on the A2 PCB. Resistor R90 is
an output pre-load which allows the unit to operate under no load or light load conditions.

Models XKW 8-125 to XKW 80-13

On these models, diodes CR301 and CR302 rectify the output of power transformer T1. Resistors R301-R304
and capacitors C301 and C302 form snubbers on the secondary of T1 to limit switching transients while
resistors R305, R305A, R306, and R306A and capacitors C303 and C304 are used to provide additional
rectifier snubbing on some models.

Models XKW 150-7, XKW 300-3.5, and XKW 600-1.7

On XKW 150-7 and XKW 300-3.5, diodes CR301-CR304 form the rectifier bridge with resistors R301-R304
and capacitors C301-C304 providing snubbing for the diodes. Resistor R305 and capacitor C305 form the
snubber on the secondary of transformer T1. Capacitor C306 provides bypassing on the output of the bridge.

On XKW 600-1.7, diodes CR300-CR307 form the rectifier bridge with resistors R302-R305 and capacitors
C1, C2, and C4-13 providing snubbing for the diodes. Resistor R300 and R301 and capacitor C303 form the
snubber on the secondary of transformer T1. Capacitor C300 provides bypassing on the output of the bridge.

Release 5.1 (96/12) 3-3




THEORY OF OPERATION XKW 1000 WATT SERIES

3.1 Power Circuit (A2 Assembly)
3.1.3 Detailed Circuit Description (continued)

Voltage Control Circuit

The output voltage is monitored by the voltage control op amp U5 at pin 3 via the positive sense line (pin 13 of
connector J3 on 8V to 80V models) and the resistor divider formed by R21, R22, R53, and R85. This feedback
voltage is compared with a 0-5V reference voltage gated from the front panel voltage control to pin 2 of U5 by
U7-2 to provide an error signal for the PWM. If the output voltage tries to rise above the selected level, the
voltage at pin 3 rises and the output of U5 becomes more positive. This increase is applied to the inverting
input of the PWM error amplifier through diode CR18 and resistor R69 causing the amplifier output to
decrease. This reduces the PWM output drive waveform pulse width, lowering the output voltage and
regulating the output at the desired level. Similarly, if the output voltage tries to fall below the selected level
the voltage at pin 3 decreases, U5 output decreases, the output from the PWM error amplifier increases, and
the drive waveform pulse width increases which raises the output voltage to the desired level. During voltage
mode operation, the output of the current control circuit at U4-2 pin7 remains low. Resistor R70 and
capacitors C54, C55, and C45 provide compensation for the op amp and diodes CR21 and CR21A limits
saturation. Capacitor C20, resistor R54, and CMOS gate U7-3 provide a soft start for the power supply during
initial startup and recovery from shut down conditions by delaying the voltage rise at pin 2 of U5. Resistor R21
supplies the front panel voltmeter with a voltage proportional to the output voltage through pin 6 of the J1
connector while a 0-5V signal (uncalibrated) for remote monitoring of the output voltage is provided at pin 19
of connector J3. Potentiometer R53 is used to adjust the full scale output of the power supply and
potentiometer R52 is used to adjust the offset on op amp US.

Current Control Circuit

The output current is monitored by current shunt resistor R91 which develops a voltage across it proportional
to the output current. This voltage is amplified and conditioned by the differential op amp formed by U4-3,
U4-4, and their associated components to provide a control ground referenced 0-5V signal at pin 5 of the
current control op amp U4-2. This signal is compared to a reference signal gated from the front panel current
control to pin 6 of U4-2 by U7-1. As the output current increases, the voltage at pin 5 rises until it reaches the
reference level set at pin 6 at which time the output of U4-2 goes high and the unit switches from voltage
mode to current mode operation. The output current is maintained at the desired level by providing negative
feedback to the PWM error amplifier as described in the voltage control circuit description above. Resistor R27
and capacitor C27 provide compensation for U4-2. Op amp U4-1 and related components scale the current
feedback signal to provide a calibrated 0-5V output at pin 7 of connector J3 for external monitoring of the
output current. The shunt voltage is also fed to the front panel ammeter via pins 8 and 9 of connector J1.

Operating Mode Indicator Circuit

Op amp U8-2 takes advantage of the fact that diode CR18 is forward biased during voltage mode and reverse
biased during current mode to provide a mode indication signal at pin 7. This output is used to drive the back
to back mode LEDs on the front panel through pin 1 of connector J1. In voltage mode U8-2 pin 7 is high and
the green voltage mode LED is illuminated. In current mode pin 7 is low and the red current mode LED is
illuminated.

3-4 Release 5.1 (96/12)



’-ii’!!"!!!lll)!lllll!lllll‘ll'lIlllIillll'llllllllllllll“fﬂ

XKW 1000 WATT SERIES THEORY OF OPERATION

3.1 Power Circuit (A2 Assembly)

3.1.3 Detailed Circuit Description (continued)

Auxiliary Supply and 6.2V Reference Circuit

Transformer T4, rectifier CR42 and capacitors C9 and C10 provide the raw DC supply voltages from which
the +12V and +5V auxiliary supplies are derived by three terminal regulators U10 and U1l respectively.
Resistor R98 and zener diode CR31 provide a +18V supply to the drive FETs Q7-Q12 on the primary of
transformer T2. Diodes CR40 and CR41 with capacitors C7 and C11 provide the negative input to three
terminal regulator U9 which supplies the -5V auxiliary output. Resistor R2 and zener diode CR1 are used to
derive a stable 6.2V reference from the +12V auxiliary supply for use on the front panel meters (via pin 5 of
connector J1) and the A2 PCB. Transistor Q5, diode CR32, resistors R60-62, and zener diode CR20 form a
low voltage lock out which disables the power supply output by shutting down the PWM should the auxiliary
raw supply fall below the threshold set by CR20.

Voltage and Current Control Current Sources

Op amps U2-1 and U2-2, transistors Q1 and Q2, and related components are used to provide 1mA current
sources for the front panel voltage and current controls. These current sources are also used for remote
resistive programming of the output voltage and current limit.

Over Voltage Protection Circuit

Op amp U3-1, transistor Q4, and related components provide a I1mA current source which is fed to the front
panel OVP adjusting pot via the external jumper connecting pins 3 and 16 of connector J3, switch SW1-8, and
pin 17 of connector J1. This current source and the OVP adjusting pot provide a 0-5V reference at pin 6 of
U3-2, the OVP control op amp. The power supply output voltage is monitored at pin 5 of U3-2 through the
resistor divider formed by R80 and R89. When the output voltage increases such that the voltage at pin 5
becomes higher than that at pin 6 the output of U3-2 goes high activating MOSFET Q17 (via drive FET Q2A)
which clamps the power supply output off through resistor R93. Diode CR25 latches U3-2 on while diodes
CR23 and CR24 gate the high signal to the shutdown pin of the PWM. The OVP indicator on the front panel
is biased on via pin 15 of connector J1 when the OVP is activated. The OVP may be reset by cycling the power
switch off and then back on to release the latch provided by CR25 or by momentarily activating the remote
shutdown circuit which causes pin 6 to be pulled high through diode CR10.

During remote voltage programming of the OVP trip level, the internal ImA current source is disconnected by
removing the jumper connecting pins 3 and 16 of connector J3 and the reference voltage at pin 6 of U3-2 is
provided directly by the external voltage source. Switch SW1-4 is used to select the programming range; 0-5V
(with the switch closed), or 0-10V (with the switch open). For current programming, the internal 1mA current
source is replaced with a 0-1mA external source to provide the required 0-5V reference signal. For resistive
programming, switch SW1-8 is opened to disconnect the front panel adjusting potentiometer and the internal
ImA current source is connected to the external 0-5k ohm potentiometer to provide the 0-5V reference.

Remote ON/OFF Circuit

A TTL high signal applied between pins 14 (positive) and 2 (negative) of connector J3 activates opto coupler
U1 which turns on transistor switch Q3 by pulling its base low. This applies 12V through diode CR11 to the
shutdown pin of the PWM thereby shutting down the power supply output. A 12-250Vac or 12-130Vdc signal
applied between pins 1 (positive) and 2 (negative) of connector J3 will also activate Ul and disable the power
supply output. Diode CR14 rectifies AC inputs while resistors R37 and R38 limit the current through the opto
coupler. Diode CR13 provides protection against reverse polarity TTL signals.

Release 5.1 (96/12) 3-5




THEORY OF OPERATION XKW 1000 WATT SERIES

3.1 Power Circuit (A2 Assembly)

3.1.3 Detailed Circuit Description (continued)

Remote Programming of the Output Voltage

During remote programming of the output voltage with an external voltage source (0-5V or 0-10V) the local
operation jumpers connecting J3 pins 8 to 9 and 20 to 21 are removed and the external source is connected
between pins 9 (positive) and 12 (negative) of connector J3. When using a 0-5V source the reference at pin 2
of U5 (voltage control op amp) is provided directly by the external source. When using a 0-10V source switch
SW1-3 is closed to provide the necessary voltage divider to scale the reference voltage to 0-5V.

For remote programming with an external 5k resistance, the jumpers connecting J3 pins 8 to 9 and 20 to 21
are removed, pins 9 and 21 are connected to the counterclockwise end of the external 5k ohm potentiometer
and the tap and clockwise end are connected to pin 12. The internal 1mA current source at pin 21 develops a
0-5V potential across the potentiometer, depending on the potentiometer setting, which is fed to pin 2 of US.

During remote programming of the output voltage with an external 0-lmA current source, the jumper
connecting J3 pins 20 and 21 is removed, the front panel voltage control is set fully clockwise, and the
external current source is connected between pins 8 (positive) and 12 (return). Varying the current source from
0-1mA causes 0-5V to develop at the reference pin of the voltage control circuit.

The front panel remote programming indicator is controlled by op amp U8-4. Resistors R55 and R56 form a
voltage divider with the 6.2V reference which develops a nominal 0.3V at pin 12 (the non-inverting input) of
the op amp. During local operation, current flow through diode CR15 and the front panel voltage control
provides a higher voltage at pin 13 (the inverting input) keeping U8-4 output low. During remote
programming, there is no current flow through diode CR15 and the output of U8-4 goes high, illuminating the
remote programming indicator through diode CR4, resistor R13, and pin 13 of connector J1. The high signal
is also provided at pin 4 of connector J3 for remote monitoring purposes.

Remote Programming of the Output Current Limit

During remote programming of the output current limit with an external voltage source, the local operation
jumpers connecting J3 pins 10 to 11 and 22 to 23 arc removed and the external source (0-5V, 0-10V, or
0-100mV) is connected between pins 10 (positive) and 12 (negative). When using a 0-5V source, the reference
at pin 2 of U6 (current control op amp) is provided directly by the external source. Use of a 0-10V source
requires that switch SW1-1 be closed to provide the necessary voltage divider to limit the control circuit
reference voltage to 0-5V. For 0-100mV programming, switch SW1-1 is opened, and SW1-2 is closed so that
the feedback voltage is scaled to 0-100mV.

3-6 Release 5.1 (96/12)

i3
‘
v
i
W



EALAL AR AR R R R R R R AR R R R AR R R R AR R R R R RR R RRERERRERRNRRRE B

XKW 1000 WATT SERIES THEORY OF OPERATION

3.1 Power Circuit (A2 Assembly)

3.1.3 Detailed Circuit Description

Remote Programming of the Output Current Limit (continued)

For remote programming with an external 5k resistance, the jumpers connecting J3 pins 10 to 11 and 22 to 23
are removed, pins 10 and 22 are connected to the counterclockwise end of the external 5k ohm potentiometer
and the tap and clockwise end are connected to pin 12. The internal 1mA current source at pin 22 develops a
0-5V potential across the potentiometer, depending on the potentiometer setting, which is fed to pin 6 of U4-2.

During remote programming of the output voltage with an external 0-lmA current source the jumper
connecting J3 pins 22 and 23 is removed, the front panel voltage control is set fully clockwise and the external
current source is connected between pins 11 (positive) and 12 (return). Varying the current source from
0-1mA causes 0-5V to develop at the reference pin of the current control circuit,

The front panel remote programming indicator is controlled by op amp U8-1 during remote current limit
programming. Operation is the same as that described above in the remote voltage programming section
except that diode CR15 is replaced by diode CR16.

Over Temperature Shutdown Circuit

The Over Temperature Shutdown circuit monitors the temperature of the bridge heatsink and the output
heatsink, using temperature sensor RT1. When the heatsink temperature reaches approximately 100 °C, the
output of U8-3 goes positive. This activates the PWM shutdown lines through diode CR27. The front panel
OTP LED is illuminated through resistor R17. The Shutdown Circuit resets automatically when the heatsink
temperature falls to a safe value. The output of U8-3 goes negative, deactivating the PWM shutdown lines.

3.2 Meter Circuit (A1 Assembly)

The Al assembly is comprised of the voltmeter and ammeter displays, the output voltage and current limit
controls, the local operation OVP adjusting potentiometer and the indicator LEDs. The operation of the
voltage and current controls, the OVP potentiometer and the indicator LEDs is covered in the A2 description
in Section 3.1. Refer to the A1 schematic assembly in Figure 5.3-1 for the following discussion.

3.21 Voltmeter

U2 is a 3 1/2 digit analog to digital converter which converts the analog input from the A2 board voltage
control circuit to a digital display on seven segment displays DS5-DS8 (maximum display is 1999). The 6.2V
reference from pin 5 of connector J1 is divided down by resistors R16 and R17 and potentiometer R18 to
provide the reference for the converter. The analog input from the voltage control circuit (via pin6 of
connector J1) is filtered by resistor R9 and capacitor C14 before it is input to pin 31 of the converter. Capacitor
C12 and resistor R7 set the conversion frequency to approximately 3 times per second. Resistors R8, R11, and
R12 are used to select the appropriate decimal point position depending on the model of the power supply.

3.2.2 Current Meter
The current meter circuit operates in the same manner as the voltage meter circuit with Ul performing the

conversion for display on DS1-DS4. Capacitors C4 and C6 provide additional filtering on the meter analog
input. Resistors R2, R5, and R6 are used to select the appropriate decimal point.

Release 5.1 (96/12) 3.7




-

pEEECSEERE




’H‘llll)lllll!llIllllllllilllllllllllllllllllllllllllll‘

XKW 1000 WATT SERIES MAINTENANCE

4. MAINTENANCE, TROUBLESHOOTING, AND CALIBRATION

4.1 General

WARNING

POTENTIALLY LETHAL VOLTAGES EXIST IN THE POWER CIRCUIT
AND THE OUTPUT OF HIGH VOLTAGE MODELS. Filter capacitors store
potentially dangerous energy for some time after power is removed.
Repairs should be attempted by experienced technical personnel only. Be
sure to isolate the power supply from the input line with an isolation
transformer when using grounded test equipment such as an oscilloscope
in the power circuit.

This section provides maintenance, calibration and troubleshooting information.

4.2 Periodic Service

No routine service except for periodic cleaning is required. Whenever a unit is removed from service, it should
be cleaned, using naphtha or an equivalent solvent on the metal surfaces, and a weak solution of soap and
water for the front panel. Low pressure compressed air may be used to blow dust from in and around
components on the printed circuit boards.

4.3 Servicing Precautions

Always disconnect power, discharge circuits, and remove external voltage sources before making internal
adjustments or replacing components. When performing internal adjustments or servicing the power supply,
ensure another person with first aid and resuscitation certification is present. Repairs must be made by
experienced technical personnel only.

4.4 Troubleshooting

Units requiring repair during their warranty period should be returned to the manufacturer for service.
Unauthorized repairs performed by anyone other than Xantrex during the warranty period may void the
warranty. Any questions regarding repair should be directed to the Service Department.

4.41 Preliminary Checks

If the power supply displays any unusual or erratic operation, shut the power supply off immediately and
disconnect it from the AC power source. Check all load, programming, and monitoring connections and
circuits. Check the AC input for correct voltage and frequency. Correct any problems found and retest the
system. If no problems are found or the unit fails to operate correctly upon retesting, proceed with internal
troubleshooting as described below.

4.4.2 Internal Troubleshooting
After reading the cautions in Section 4.3 and completing the preliminary checks described in
Section 4.4.1, remove the cover and proceed with internal troubleshooting, using the information contained

in Figure 4.4-1 as a guide, to isolate the problem to a specific area of the circuit. Refer to the schematics in
Section 5 and the theory of operation in Section 3 for additional information.

Release 5.1 (96/12) 4-1




MAINTENANCE XKW 1000 WATT SERIES

4.5 Calibration

Calibration on both the A1 and A2 assemblies is accomplished using multiturn trimpots. The list below gives
the circuit designation of the trimpot and the parameter affected by that part. Calibration is performed at the
factory during testing and recalibration should be unnecessary unless major repairs are required. Calibration
should be done with the cover on through the access holes in the cover. See Figure 4.5-1 below.

TABLE 4.5-1 CIRCUIT DESIGNATION
CIRCUIT DESIGNATION ASSEMBLY PARAMETER AFFECTED
R7 A2 Output Current Monitor Calibration
R46 A2 Output Current Monitor Offset
R47 A2 Current Control Circuit Offset
R48 A2 Output Current Range
R52 A2 Voltage Control Circuit Offset
R53 A2 Output Voltage Range
R18 A1 Front Panel Voltmeter Calibration
R15 A1 Front Panel Ammeter Calibration
-] o e
000000000000000000000000000000000
000000000000000000000000000000000
000000000000000000000000000000000
WME O
O 47
O mMa
o
O o
o
RIA O ORDS
e L)

B == |

Figure 4.5-1 Calibration Adjustment Locations

4-2 Release 5.1 (96/12)




-
<
1-60 %I3HI P
[sz 4o 3aony xumxovﬂmmﬂﬂ;v NMOOLNHS HOHY3 5
T=2 b=+t =401 2411 , WBYO0Hd LNIHHND &
LINJYII TOUINOD IN3YHND XI3HI Mol
i o 99 03HD
HOTH IEEETTTEEETE] preray PWevet
zZ-2n*sn
B 8142 30014 40 3AONY
LINJHID TOHINOD 39U170n [ e 3JHL 1Y 3901700 JHL HI3HI Mo b1 'Sh ‘ezdd
%I3HI
§ NIIHI
NS *XOHddy [ zewo 3aony %a3HO MO 1NdNI
AT 3 HOTH AHBITIXNY Y
4 MWWMMﬁwﬁ-ND = TT GNY 6 SNId €f HOLIINNOD Mo
INZHHND BW1 %93HD NS NYHL SS31 1Y 39681700 un 3HL %93HD €-80 ‘TiH XIIHI
- 2282 30N 3HD =1 \roquNHS WL
[
8142 30014 40 300HLED no
g I 1N %03H9
N Mol 4 IV 200 UVE 00 ) D [ 1149 300NY xuu:u+ﬂmmﬂﬂ;¢' NHOGLAHS 31L0W3Y
3
Mo Mol
Z-EN MI3HD
[91 NId 9n 1y 3981700 30 xowzu_..umMMmuu;wﬁ 2D 3A0NY %I3HD NHGOLAHS dno
s .
IN3S34d
S3NGM ON
S3NUN 3HUNDS
¢1-240 S134 3744 |4 ZH¥BBT My3d N8l HOd
AI3HI IN3S3Yd S3nN BT GNH 11 SNId 9N XI3HD
LN3S3Hd
S3NLM ON
2S-6+47 ‘Uali-ulae1y ZH408T @ dd N9E ANFLBNIXOHdY
91-€1b 'O11-2014 |jo——— ] 21 40 AYbNIYd
NIIHI INISIHd S3nuM 3H1L NO S3nuM 34HNBS YHOd
¥03HD 0L 3d0ISOTIIS0 3Sn
]
IN3S38d
SHH043nkrt ON LINS3Y AUW INIUDINDI 1S3 HO/ONH
g6ea " Toco) Hecmieol 1oeeTon SEBH  E E (e GALEI081 ST 1NN L LU Fenena
€5-150 ‘+@e-10€Y 11 40 AWUWIYd
€1 *SHIT4ILI3H LNdLNO - JHL NO SINGM 3WUNDS HO4 440 LNHS LINN 3HL HLIM SNOILO3NNOD 3d03S071113S0 3Gl
X23HO IN3S3Hd S3nbN
503HD 01 340950717190 3sn NOI1Ng?
1
0
S317ddNS *XNY
1642 193" 11n*@1n’en |, 0 LON S3I1ddNS AWYITIXNY
%I3HD S317ddns ‘Xng | ©°9+ ‘81+ ‘Tl+ 'S- ‘S+ XIIHO
§ B
0
9@ 3961700 HOIH
(3PNBSE AT31HUIX0HdIY) 90 394170N 273 *149 ‘Sewd
€4 1Y 20
3941700 HOTH ¥O3 YI3HD HOIH ON AI3HI
SHOWH3 HO4
S1INJYII GNB SNOILI3NNOD %0 €4
wzmzzm‘m_womw_ooz.hzwco.‘ v_@wxumm 3I8N4 ONIJYd3aY 60438
€4 35n4 %3H | E11-111H *690 *91D-€1D
%0 LON
ab 453k 183l D SAGTIdSIC
°Z NOI1133S NI 038182530 SAHTJS1A 13NBd SAUIdsIg | (1d) HOLIITIS 39HIT0N LNdNI
SY 1S3L NOILINNI WHOdW3d INOHS %I3HD ATHNSIN oN = M S
A6H3SSY TH NO 8S0-1Sd ‘zn In 440 dWb1
30N3Y343H OPNZ'S W04 1d HOLIINNGD 40 S NId ISNd 23 330743 ANY
Zd GNY 1Y N33ML38 1r 378D NoesIH T1 dWd1 AJ3HD &1 398170n 1J33YH0J Ho4 (1d)
MI3HD NO diy 401337135 396170n 1NdN1 XI3HI
1
3991700
ON
(s170n 20)
SAUISSIA TNUd |, M0 W3LIULI0N B HLIN
%0 Saglgsig  LANOEd XI3HI ATIENSIN 3904700 | 391700 10d1N0 XIIHO
" , J081NO3 W30
04 SNOTLISOd HILIMS
9NISN3S ONY T0HLNDD NO 1INN NHNL NO
98207 503 SNOILI3NNGD H3UH0ISNUYL NOILYIOST NY HONOWHL 3OHNOS I 3HL 04 1INN 3HL 1I3NNOD o oo e ® o
o 3SIMNI0TD ATIN4 STIOUINDD INIHHND ONY 396170N 13S 22222 ¢%
= (SNOTLIINNOD QNG SONILL3S HO4 IHOTY ONY L33 LY SHHHOYIQ 33S) A N N NN
o oaw 000 0 0o »r»r JOULNGD W30 HO4 €f HOLI3NNOD ONY IMS HOLIMS 3UNOIANOD _
0oo0dooooaoae SINIT YOLINOW WO ONIWWGYI0Hd ANY 1J3NNOJSIA
I el STNINYAL LNJLNO 3HL WOH4 QHOT 3HL LIINNOISIA
30UN0S J¥ 3HL WOW4 LINN 3HL 1D3NNOISIA
440 HILIMS Y3MOd FHL NuNL
€F WO1J3NNOD dnL3s 440
1°€°% NOILI3S NI SYI3HD AHUNIWII3Yd 3HL IS HIL1INMS
WH03Y3d ONY 9N1G3300Hd 360438 €'+ NOILI3S QU3
3

4444444444443 333244343444dd3ddddiididddidididiciciie s



JJJJ)JJJJJJJJJJJJJIJJJJJJJJJIJIJJ"JJJ’ll"“"“““"t

XKW 1000 WATT SERIES SCHEMATIC AND PARTS

5. SCHEMATICS AND PARTS LISTS

5.1 General

WARNING
Exercise caution when using and servicing power supplies. High energy
levels can be stored at the output voltage terminals on all power supplies in
normal operation. In addition, potentially lethal voltages exist in the power
circuit and the output connector of power supplies which are rated at 40V
and over. Filter capacitors store potentiaily dangerous energy for some time
after power is removed.

This section provides schematic drawings and parts lists for the following assemblies:

e Al Front panel assembly
e A2 Power assembly
e  Chassis and cover

Most assemblies consist of parts common to all series models as well as parts which are model-specific, or
differential.

5.2 Parts Ordering

Do not substitute parts without first checking with the manufacturer. Order parts from the factory using the
information in the following sections. When ordering parts, please include the model number and serial
number of the unit with your order.

5.3 A1 Front Panel Assembly Replacement Parts

TABLE 5.3-1 A1 FRONT PANEL ASSEMBLY REPLACEMENT PARTS

Designation Description Part #
C1.9 10pF 25V 20% 2.5mm Tantalum Cap CJ-100D-25
C2,12 100pF 100V Z5F 10% S5mm Ceramic Radial Cap CB-101F-16
C3-7,10,11,13-15,17, 0.33uF 50V Z5U -20% to +80% Smm Ceramic Cap CC-334F-09
18-22
C8,16 0.1pF 100V MF 10% 10mm Radial Cap CD-104J-16
CB1 125/250Vac 20A Circuit Breaker, Button Reset SB-1205-ACBQ
CR1,7,8 T-1 3/4 20mcd @ 20mA Red round LED DS-5103-R2
For CR1-8 0.25" x 0.2" insulating standoff MR-6251-03
CR2,6 T-1 3/4 3.0med @ 10mA Green round LED DS-5173-G2
CR3,5 Red Rectangular LED 2.5 x 5mm DS-5556-R6
CR4 Green Rectangular LED 2.5 x 5mm DS-0394-G6
DS1,2,3,4,5,6,7,8 Orange 7 segment display DS-1131-07
. (DS4 and DS8 not installed on some models)
For DS1,2,3,5,6,7.8 20 posn socket strip, 0.1" single row MC-2001-IC
PCB A1 PCB PC-1001-D
For PCB 6-32 x 3/16" Nylon Allen Socket Head Screw MS-6A37-03

8-32 x 1/2" Philips Flathead MS-8P18-08
P1 20 Pin Male MTA Pin header 0.1" Friction Lock MC-2003-MC
P2 9 Pin MTA Pin header 0.1" Friction Lock MC-0903-MC
R1,3,7,9 100kQ2 1% 1/4W MF R-1003-41
R2,5,6,8,11,12 365Q2 1% 1/4W CF Decimal point resistors (Not all installed) | R-3650-41

Continued on next page.

Release 5.1 (96/12) 5-1

= —




SCHEMATIC AND PARTS

5.3 A1 Front Panel Assembly Replacement Parts

XKW 1000 WATT SERIES

TABLE 5.3-1 A1 FRONT PANEL ASSEMBLY REPLACEMENT PARTS
Designation Description Part #
R4 (8V,20V,40V,60V, 47.5kQ 1% 1/4W R-4752-41
80V Models)
R4 (150V,300V,600V 475kQ 1% 1/4W R-4753-41
Models)
R10 475k 1% 1/4W MF R-4753-41
R13 (8,20,33,40,60,80 10002 1% 1/4W MF R-1000-41
150, 600V Models)
R13 (300V Model) 1kQ 1% 1/4W MF R-1001-41
R13A Empty Position R-EMPT
R14 (8V Model) 34.8kQ 1/4W 1% MF R-3482-41
R14 (20,33,40,60,80, 6.19kQ2 1/4W 1% MF R-6191-41
150,600V Models)
R14 (300V Model) 2.37kQ 1/4W 1% MF R-2371-41
R15,18 500Q2 25 Turn 10% Cermet Pot Type "Z" RC-5000-Z8
R16 75002 1/4W 1% MF R-7500-41
R17 4.99kQ2 1% 1/4W MF R-4991-41
R19,20 5k 10T 2W 5% Panel Mount 1/4" Shaft Potentiometer RP-5001-0
For R19,20 #24 Bus Wire Tinned Cu WB-0024-0010
R21,R21A 5kQ2 20 Turn 10% Cermet Pot Type "Y" (one installed) RC-5001-Y9
R22 2002 1% 1/4W R-2000-41
u1,2 3.5 Digit A/D LED driver 40P 7107 CMOS UD-7107-C
For U1 and U2 20 posn socket strip, 0.1" single row MC-2001-IC
Front panel sheet metal 1.71" x 19" SM-10FP
Front panel mounting #8-32 x 1" Hex Standoff Brass/CAD plated MR-825T-16
#8 x 5/16" Internal Lockwasher Stainless Steel MW-8110
F/P to base,subplate #4-40 x 1/4" Undercut Flathead Philip Stainless Steel MS-4P30-04
For front panel #4 Angle bracket MB-0612-04
For bracket #4-40 x 1/4" KEP Nut Stainless Steel MN-4402-08
Handle MH-8125-BA
For handle #8-32 x 1/2" Philips Flathead Stainless Steel MS-8P18-08
Front panel control knobs MK-4094-SB
AC power switch 20A 250V DPST Rocker Switch SW-2126-RR2
Front panel label XKW 8-125 LA-1008-XF
Front panel label XKW 20-50 LA-1020-XF
Front panel label XKW 33-33 LA-1033-XF
Front panel label XKW 40-25 LA-1040-XF
Front panel label XKW 60-18 LA-1060-XF
Front panel label XKW 80-13 LA-1080-XF
Front panel label XKW 150-7 LA-1150-XF
Front panel label XKW 300-3.5 LA-1300-XF
Front panel label XKW 600-1.7 LA-1600-XF
5.4 A2 Power Assembly Replacement Parts
5.4.1 A2PCB Common Parts
TABLE 5.4-1 A2 PCB COMMON PARTS
Designation Description Part #
C1.4,73 1uF 260Vac 10% 27.5mm MF "X" Radial Cap CD-105P-36
C2,3,5,6 10nF 250Vac 10% 15mm MF "Y" Radial Cap CD-103L-36
C7,11 470uF 35V 20% 5mm 13 x 256mm Electrolytic Radial Cap | CL-471F-35
Continued on next page.
5-2 Release 5.1 (96/12)



‘EERREREREEEERERRRRRRRRRRRRRRRRRERRRRRERRRRRRRRRRRRRRRR R R §

’_ .
AMMETER DISPLAY UOLTMETER DISPLAY
+5U R4 Ri3 | R14 |DEC. POINT| +5u
STDsq 8T DS3 87092 gl DS1 UALUE | UALUE | UALUE | RESISTORS 87038 8T DS7 BT[)SB 8| DSS
MODEL 5% 1% 1% | INSTALLED
| s | — | s—— | —, =2 | m— — 7:
Z ﬂ z ? Z ﬂ Z 5/ 20-50 | 47.5k | 100 | 6.19% | R2, R8 ﬂ
of o| 5 0| ° | 0 33-33 47.5k | 10@ | 6.1Sk| RZ2, R8 !L, of ° iL,ﬁ ol & ZLZ?O 5 Zz [?o
j 43-75 47.5k | 100 | 6.19x| RZ, RB ] —
A /\ A ; < 60-18 | 47.5k | 100 | 6.19x| RZ, R8 / | /
80-13 | 47.5k | 100 | 6.19k| R2, R8 o
150-7 475k 160 | 5.19«| B85, RS R12
R6 RS R2 300-3.5 | 475k | 1.0k | 2.37k RS Ril R8
A A\ I A 600-1,7 | 475k 160 | 6.19k R6 2\ AN a
w w
1 - ALL DECIMRL POINT RESISTORS 365 OHMS t L -
+5U ’ ’ ' +5U ’ ’ ’
1 42 ‘ 1 , ' 49
® Ul [CL710Y ° U2 ICL/1B7
0.5 [+ 15 Al e Bhr 4 deits 1 Bk
B 1 DISPLAY TO IC INTERCONNECTIONS 39 f\/\/ﬁmk —— 28U DISPLAY TO IC INTERCONNECTIONS 39 AN —e
—T ~T
UL PIN|[DS# PIN|[UI PIN|DS3 PIN|[UL PIN|DSZ PIN|[UL PIN|DSI PIN UZ PIN|[DS8 PIN|[UZ PIN|DS7 PIN|[UZ PINIDSE PINI[UZ PINIDSS PIN .
19 | 4,6 15 7 g 2 2 ) 38 IS | 4,6 15 2 g P 2 2
33 ’ 18 6 10 4 3 5 || 33 ’ 18 & 19 § 3 5 | %
SN IS I A (B & IS IR s
1 i
_l e.33F 22 18 13 9 3 5 leepF | _ |l e.3ur 2 1o 13 3 2 § 10@pF
= =— 23 7 13 i 7 10 21 — == 23 7 1% 1 / ) 5
- 34 24 4 25 10 8 1 - 34 24 4 25 18 8 1 1
C19 17
T @C.%%ul-' 8. 33uF _ | 8.33uf
30 31 32 29 27 28 35| R13A 36| 26 ———1 31 38 32] 29 27 8| 35 3] g, 36| 26]
ct @ | | NOT USED ' 250
0. 33uF 7 ce I - CL C1S _[.C16 R1O
’ | \ ¢ 8.33¢F | 186nF c|21 4 -5U = V 8. 33uf 8.33UF [180nF > {75k n gy =
ce H @.33uF o—‘ cl
8.33uF R4 \/\/\, ' < UOLTMETER
A\ ’ RI3 R9 g (UL SCALE
B3 AMMETER 190K ADJUST
-
160k & AVRA [ o _ FULL SCALE hd V 5%
c22 ADJUST R17
RIS R14 o1is IEEE 488 INDICATORS 4,99k
" B A r 1o "R o4
0.33uF INDICATOR VR— ) P1-5 |
! v UOL TMETER AMMETER
WV \V/ INPUT CR4 E) ' 18
W R FANE
P1- P1-8 Bl Ui 330nF
NEGHTI%E ZOSIETTIE%E CURRENT w0 PI-13 Pi-14 PI-15 _ PI-I8 R21 OR R21A v
AMMETE MM QUP SET .
= = cu 0% t NCTE: ALL RESISTORS 1/4W 1% EXCEPT AS NOTED
P1-2 P1-4 o | ! 0) /\ DENOTES MCDEL DEPENDENT PART
7 R22
- - - -7
P1-11 Pl-18 Pl-12 Pl . CR3 200 D) B C F; A TR
0 ? 1 kW Al ASSEMBLY SCHEMATIC
R20
CUEFIRENT ggh}ggg T DRAWING NUMBER: XS-10201
VI -~ VI CO@IROL H P1-18 DESIGN: REU: F ECN:1kW 163
- el e =T / \% /' [orAn BY: LAST REV: 93/82/16/JU
> R%'ENS 7 A A AT CHECKED: RELEASE DATE:
o~ o~
o - APPROUVED:
5-2A Figure 5.3-1

XS1@@1F.SCH




IIIIIIIIIIDIDIIDIIIPIIDIIDIDIIIIDIIINNINMILIVNIVNIOVIOIOLIOIOLIOGIOIOIOGOOGIGLOLINLG

XKW 1000 WATT SERIES

5.4 A2 Power Assembly Replacement Parts
5.41 A2 PCB Common Parts

SCHEMATIC AND PARTS

TABLE 5.4.1 A2 PCB COMMON PARTS (CONTINUED)

Designation Description Part #
C8,16-18,18A,19,20, 0.33pF 50V Z5U -20% to +80% 5mm Ceramic Cap CC-334F-09
20A,20B,20C,23,23A,

24-26,28,29A,30,31,

31A,32,33,35,35B,

36-39,41,56,56A,

57-59,64A,65,67,68,74,

76,77,80

c9 2200uF 16V 20% 5mm 13 x 256mm Electrolytic Radial Cap | CL-222F-16
Cc10 1000uF 35V 7.5mm 16 x 2.5mm Electrolytic Radial Cap LS | CL-102H-35
C12-15,66 10pF 50V 2mm Electrolytic Radial Cap CL-100C-50
C21,22 10nF 100V X7R 10% S5mm Ceramic Radial Cap CB-103F-16
C22A,26A 0.1uF 50V X7R 10% 5mm Ceramic Cap CB-104F-06
C29,30A,34,40,42 100pF 100V Z5F 10% 5mm Ceramic Radial Cap CB-101F-16
C35A,63,63A 1nF 100V X7R 10% 5mm Ceramic Radial Cap CB-102F-16
C43,44 10uF 25V 20% 2.5mm Tantalum Cap CJ-100D-25
C46 10nF 1kV Z5U -20% to +80% 10mm Ceramic Cap CC-103J-69
C47 10uF 63V 2.5mm Electrolytic Cap CL-100D-63
C61 220pF 100V X7R 10% 5mm Ceramic Radial Cap CB-221F-186
C69 330pF 1KV Z5F 10% 6.5mm Ceramic Cap CB-331G-66
C70,70A 0.33uF 400V 10% 22.5mm Ceramic Radial Cap CD-334N-46
C71,71A71B,72,72A, 1000pF 200V 10mm 20% 35mm x 30mm Snap-in Cap CL-102J-8030
72B

C78,79 50nF 1kV Z5U -20% to +80% 10mm Ceramic Cap CC-503J-69
CR1,17 1N825A 6.2V 400mW VZ DO35 Zener Diode CR-0825-A
CR1A,1B 0Q Jumper 1/4W Resistor size R-0000
CR2-13,3A,9A,15,186, 1N4148 UR D035 75V 300mA Diode CR-4148
17A,18,19,21,21A,24,

25,25A,27-30,32-34,

38,39

CR14,36,37,40,41,43 1N4004 400V 1A Diode CR-4004
CR20 1N5242B 12V 5% 0.5W Zener Diode CR-5242-B
CR23 1N753A 6.2V Zener Diode CR-0753-A
CR23A 1N53368 4.3V 5W 5% Zener Diode CR-5336-B
CR27A 1N4372A 3.0V 400mW Zener Diode CR-4372-A
CR31 1N5355B 18V 5W Zener Diode CR-5355-B
CR35 800V 35A Bridge Rectifier Chassis-mounted CR-B358
For CR35 #6 x 5/16" Flatwasher Stainless Steel MW-6410-SS
For CR35 Therm.Conduct Insul Adh Back 12" x 125 MI-7403-09
For mntg CR35 #6-32 x 1/4" KEP Nut Stainless Steel MN-632Z-08
CR42 200V 1A 4 pin DIP Bridge Rectifier CR-B012
CR44 1N754 6.8V 500mW Zener Diode CR-0754
DS1 Neon bulb 65Vac 40mA DS-65NE-29
F1 20A 250V 3AG Fuse (slow) F2-2000-S
For F1,F2 3AG Fuse clip BeCu PC Mount MC-3101-FC
F2 0.5A 250V 3AG Fuse (slow) F2-0050-8
F3 10A 250V 5AG Fuse (fast) F2-1000-F5
For F3 5AG Tin Plate Brass Fuse clip PC Mount MC-5011-FC
J1 20 Pin MTA Connector (Female) 0.1" with 7.5" Ribbon cable | WA-2022-15
J2,for J1 20 Pin 0.1" MTA male Header Friction Lock MC-2003-MC
J3 25 Pin female PCB mount DSUB MC-2501-D

Continued on next page.

Release 5.1 (96/12)

5-3




SCHEMATIC AND PARTS

5.4 A2 Power Assembly Replacement Parts

541 A2PCB Common Parts

XKW 1000 WATT SERIES

TABLE 5.4.1 A2 PCB COMMON PARTS (CONTINUED)
Designation Description Part #
For J3 DSUB F/M Screwlock Assy #4-40 kit MA-440D-FS
Mates to J3 25 pin male DSUB Connector, solder cup MC-2500-D
For mntg DSUB mating | #4-40 x 1/4" PPM Head Screw Stainless Steel MS-4P28-04
connector
For J3 connector #22 Bus wire Tinned Cu WB-0022-0010
jumpers
K1 T90 Relay 250V 30A SPST 12V Coil K1-012D-30AP
L1,L2 1mH 20A Common Mode Inductor L2-0120
L4 ETD34 N27 Ferrite core Gapped in 8V and 20V models FD-2400-34
L5 Sense Line Common Mode Inductor X7-18SNS
For LS 0.5" x 0.25" Toroid (Ferrite) FT-0525
PCB A2 PCBRevG PC-1002-G
P1 4 Pin Mate-N-Lock PCB Header MC-3502-ML
P2 2 Pin Mate-N-Lock PCB Header MC-0209-ML
Q1,2,3,4 XX2907A PB 60V 0.5mA 400mW TO92 QN-2907-A
Q2A,5B 2N7000 NM 60V 500mA TO226AA QJ-7000
Q5 PN2222A NB 40V 500mA 500mW TO92 QM-2222-A
Q6-12 RFD14N05 NFET 14A 50V 0.1Q TO251 QF-P14N-05
Q13-16 IRFP450 500V 0.4W NMOS FET TO247 QF-450P-IR
For Q13-16 TO247 Insulating Washers MI-T247-IW
For Q13-16 Heatsink HS-1000-B
#6-32 x 5/8" PPM Screw Stainless Steel MS-6P28-10
#6-32 x 9/32" W x 0.065" H Captive Nut MN-632C-09
#6 x 1/4" Internal Lockwasher Stainless Steel MW-6108-SS
#6 x 5/16" Plated Flatwasher Stainless Steel MW-6410-SS8
#6-32 x 1/4" Pan Head Stainless Steel MS-6P28-04
#4-40 x 1/4" Kep Nut Stainless Steel MN-440Z-08
R1,3,49,51,56,75,77,96 | 4.99kQ2 1% 1/4W MF R-4991-41
R2,11-15,17,40,45,82, 75002 1% 1/4W R-7500-41
123
R3A,22A 75kQ 1% 1/4W MF R-7502-41
R4,6,19,21,28A,32,39, 1kQ 1% 1/4W MF R-1001-41
61,74,76,97,102
R5,8,8A,20,23-25,28, 10kQ 1% 1/4W MF R-1002-41
57,58,60,62,65,69,80,
81,81A,103,105
R7,46,48,52 10kQ2 Multiturn 10% Cermet trimpot "Y" Type RC-1002-Y9
R7A,63,66,67 20k 1% 1/4W R-2002-41
R8B,8C,12A,78 Empty Position R-EMPT
R9,10,55 100kQ2 1% 1/4W MF R-1003-41
R16 121Q 1% 1/4W R-1210-41
R18,19A,54,119,119A, TMQ 1% 1/4W R-1004-41
120,125
R26,79 2kQ 1% 1/14W MF R-2001-41
R29,94 49.9kQ 1% 1/4W MF R-4992-41
R30 665k 1% 1/4W R-6653-41
R31,41,43,84 3.01k2 1% 1/4W MF R-3011-41
R33 20MQ 5% 1/4W CF R-2005
R34 787kQ 1% 1/4W MF R-7873-41
Continued on next page.
5-4 Release 5.1 (96/12)

»



VIV OOOOCCCOCOP000000000000000000800000000¢|

XKW 1000 WATT SERIES

5.4 A2 Power Assembly Replacement Parts

541 A2PCB Common Parts

SCHEMATIC AND PARTS

TABLE 5.4.1 A2 PCB COMMON PARTS (CONTINUED)

Designation Description Part #
R35 200kQ 1% 1/4W MF R-2003-41
R36,50 100Q2 1% 1/4W MF R-1000-41
R37 1kQ 5% 1/2W CF R-1001-3
R38 5.1kQ 5% 5W WW RW-5101-5
R42 3.24kQ 1% 1/4W MF R-3241-41
R44 10Q2 1% 1/4W MF R-10R0-41
R47 500€2 20T "Y" Trimpot 10% RC-5000-Y9
R53 5kQ2 20T 10% Cermet Trimpot "Y" Type RC-5001-Y9
R57A 365kQ 1% 1/4W R-3653-41
R59 8.66kQ 1% 1/4W MF R-8661-41
R83,124 243Q 1% 1/4W MF R-2430-41
R87,88 100Q2 5% 5W Ww RW-1000-5
R98 10Q 5% 1/2W CF R-10R0-3
R99,101 47.5Q 1% 1/4W MF R-47R5-41
R103A 16Q 5% 1W MF R-16R0-1
R104,106 100Q2 5% 1/2W CF R-1000-3
R111-113 47002 5% 5W WW Low inductance RN-4700-5
R114,115 10kQ2 5% 5W WW RW-1002-5
R116 39Q) 5% 5W Ww RW-39R0-5
R117,118 301k 1% 1/4W R-3013-41
RT1 NTC Axial Lead Temp. Sensor 100k @ 25°C TO92 RT-1003-89
For RT1A, for L5 #22 TRB64 Stranded Black Wire, Twisted WI-0122-BK
For RT1B, for L5 #22 TR64 Stranded Red Wire, Twisted WI-0122-RD
SWi1 8PST DIP Rocker Switch 5V 0.06A SW-8156-RU3
For SW1 16 pin DIL IC Socket MC-0016-IC
T2 100kHz Bridge drive Transformer 1:1 T2-10DR
T3 Current sense Transformer T2-10SN
T4 Auxiliary Transformer 110/220 16CT 12VA T-1612-60
TB1 AC input barrier strip MC-026R-BS
For TB1 Insulating cover MI-026R-CR
U1 4N35 Opto-coupler 6 pin DIP 3550V Isolation UP-4N35
u2 LF353 Dual op amp 8 pin DIP FET UA-0353-N
For U2,3,5 8 pin DIL IC Socket MC-0008-IC
U3 LM358 Dual Op amp 8 pin DIP UA-0358-N
U4,8 LF347N Quad JFET Op amp 14 pin DIP UA-0347-N
For U4,7,8 14 pin DIL IC Socket MC-0014-IC
us LF351 Op amp 8 pin DIP UA-0351-N
us UC3846N IMODE PWM 16 pin DIP UR-3846-N
For U6 16 pin DIL IC Socket MC-0016-IC
u7 4066B Quad analog gate 14 pin DIP UC-4066-BN
use LM337 3T regulator (negative) TO-220 1.5A UR-0337-T
u10,11 LM2940CT Low saturation 3T regulator TO-220 5V UR-2940-CT
For U10,11,AC #6-32 x 1/4" KEP Nut Stainiess Steel MN-632Z-08
connector

#4-40 x 1/4" Phillips PAN Stainless Steel MS-4P28-04
For U10,11,AC TO220 Heatsink HS-6021-PB
connector

Air dam (10 mil Nomex) SP-10AD

Release 5.1 (96/12)

5-5




SCHEMATIC AND PARTS

5.4 A2 Power Assembly Replacement Parts

541 A2 PCB Common Parts

XKW 1000 WATT SERIES

TABLE 5.4-2 QUTPUT BUS BAR COMMON PARTS (8V TO 80V MODELS)

Designation Description Part #
For bus bar cover #4 Angle Bracket MB-0612-04
For PCB to bus bar #6-32 Right Angle Bracket MB-0614
For RA bracket 1/8" Copper Rivets MP-0205

#6 Nylon Shoulder Washer MI-0635-SW
Chassis ground to PCB | #4-40 x 7/32" Captive Nut PCB Mount MN-440C-07
For captive nut #4 x 0.265" OD Internal Lockwasher Stainless Steel MW-4108-S8

#4 x 9/32" Plated Flatwasher Stainless Steel MW-4409-SS
For chassis ground, bus |#4-40 x 1/4" Phillips PAN Stainiess Steel MS-4P28-04
bar cover
For bus bars to RF! PCB | #6-32 x 3/8" PPM Stainless Steel MS-6P28-06
and chassis
For bus bars to chassis | #6-32 x 7/16" PPM Stainless Steel MS-6P00-07
PCB Output Bus Bar PCB Rev. C PC-10RF-C
For mntg PCB #6-32 x 16" Nylon Allen Socket Head 7/64" MS-6A37-03
For bus bars to PCB #6-32 x 5/16" Phillips PAN Stainless Steel MS-6P28-05

#6-32 x 1/4" KEP Nut Stainless Steel MN-6322-08
For PCB, bus bar #6 x 1/4" Internal Lockwasher Stainless Steel MW-6108-SS

#6 x 5/16" Plated Flatwasher Stainless Steel MW-6410-SS
5.4.2 A2 PCB Differential Parts

TABLE 5.4-3 A2 PCB DIFFERENTIAL PARTS (ALL MODELS)
Designation Description Part #
MODEL XKW 8-125
C27,54,62 10nF 100V X7R 10% 5mm Ceramic Radial Cap CB-103F-16
C51-53 22000pF 10V 10mm 30 x 35mm Electrolytic Cap CE-223J-10
C55 22nF 100V X7R 10% 5mm Ceramic Cap CB-223F-16
C60,64 330pF 100V X7R 10% 5mm Ceramic Radial Cap CB-331F-16
C61 220pF 100V X7R 10% 5mm Ceramic Radial Cap CB-221F-16
C301 10nF 1kV Z5U -20% to +80% 10mm Ceramic Radial Cap CC-103J-69
C302 1nF 1kV X7R 10% 6.5mm Ceramic Radial Cap CC-102G-66
C306 0.05uF 1kV Z5U -20% to +80% 10mm Ceramic Disk Cap CC-503J-69
For C306 #6 Bent, Locking Solder lug MC-6213-SL
For C306 #6-32 x 1/2" PPM Stainless Steel screw MS-6P28-08
For C306 #6 x 5/16" Plated Flatwasher Stainless Steel MW-6410-SS
For C306 and heatsink | #6 Nylon Shoulder Washer 0.25" x 3/8" MI-0625-SW
CR49-52 Empty Diode Position CR-EMPT
CR301-302 MBR 30045 300A 45V Dual Schottky Rectifier CR-3004-PT
For CR301-302 1/4-20 x 3/8" Brass Screw MS-7527-06
For CR301-302 1/4-20 x 1/2" Brass Screw MS-7827-08
L3 Output Inductor 12.5mH 125A L2-1008
Q5A PN2222A 40V 500mA 500mW TO92 QM-2222-A
Q17 IRF640 200V 18A 0.18W NFET TO220 QF-0640-IR
R22 4.53kQ 1% 1/4W MF R-4531-41
R27,95A 475Q 1% 1/4W MF R-4750-41
R64,107-110 10Q2 1% 1/4W MF R-10R0-41
R68 90.9k2 1% 1/4W MF R-9092-41
R70 47.5kQ 1% 1/4W R-4752-41
Continued on next page.

5-6 Release 5.1 (96/12)

BB

1
i
i




IIIBIDDIIDDDDINDDIDDOIIOOPIPOIOPPOOIODO0B00000000000000000004¢|

XKW 1000 WATT SERIES

5.4 A2 Power Assembly Replacement Parts

5.4.2 A2 PCB Differential Parts

SCHEMATIC AND PARTS

TABLE 5.4-3 A2 PCB DIFFERENTIAL PARTS (ALL MODELS)

Designation Description Part #
MODEL XKW 8-125 (CONTINUED)
R71,73 44.2kQ 1% 1/4W MF R-4422-41
R72 1kQ 1% 1/4W MF R-1001-41
R85 100Q2 1% 1/4W MF R-1000-41
R86,107A-110A 0Q Jumper 1/4W Resistor size R-0000
R89 13.3kQ2 1% 1/4W MF R-1332-41
Ra0 20Q2 5% 5W Ww RW-20R0-5
R91 #12 Manganin wire WR-0012-MN
R93 0.40Q2 5% 5W WW RW-R400-5
R95 3.32Q 1% 1/4W R-3R32-41
R96A 4.99kQ 1% 1/4W MF R-4991-41
R100 10kQ 1% 1/4W MF R-1002-41
R301,303 1Q 5% 5W 100PPM/C Non-inductive RN-1R00-5
T1 1KVA 100kHz 8V 125A Transformer T2-1008
O/P PCB Blank Rev. C PC-10RF-C
Negative conductor bus SM-1000-NC
Positive conductor bus SM-1000-PC
Power Tap Rectifier output bus SM-1000-RO
Shunt bracket Inductor O/P, Shunt I/P bus SM-1000-SB
For shunt bracket #6-32 x 1/4" KEP Nut Stainless Steel MN-632Z-08
#6-32 x 5/16" Phillips PAN Stainless Steel Screw MS-6P28-05
Output bus bar (negative) SM-1000-NB
Output bus bar (positive) SM-1000-PB
10 mil NOMEX insulation IN-2000-10
50nF 1kV Z5U -20% to +80% 10mm Ceramic Disk Cap CC-503J-69
470uF 16V 20% 5mm Electrolytic Radial Cap CL-471F-16
C406 2.2uF 63V 5% 15mm Metallized Polyester Cap CD-225L-D5
For +O/P, -O/P, rectifier | 1/8" copper rivets MP-0205
O/P, shunt bracket
Differential heatsink (tapped) HS-100T-A2
For rectifier/snubber 1/4" Straight, plain solder lug 12/16” MC-1312-SL
For snubber parts #6-32 Insulated solder turret MR-625C-06
For solder turret #06-32 x 1/2" PPM Stainless Steel screw MS-6P28-08
For solder turret, #6-32 x 5/8" PPM Stainless Steel screw MS-6P28-10
heatsink
#6 x 1/4" Internal Lockwasher Stainless Steel MW-6108-SS
#6 x 5/16" Plated Flatwasher Stainless Steel MW-6410-SS
MODEL XKW 20-50
C27,54,62 10nF 100V X7R 10% S5mm Ceramic Cap CB-103F-16
C51,562,53 10,000pF 25V 10mm 35 x 30mm Electrolytic Rad Cap CE-103J-25
C55,60,64 330pF 100V X7R 10% 5mm Ceramic Cap CB-331F-16
C61 220pF 100V X7R 10% 5mm Ceramic Radial Cap CB-221F-16
C301 1nF 1kV X7R 10% 6.5mm Ceramic Disk Cap CB-102G-66
C302 4.7nF 400V 10% 10mm MF Polyester Cap CD-472J-46
C305,306 50nF 1kV Z5U -20% to +80% 10mm Ceramic Cap CC-503J-69
For C305,306 #6 Bent, Locking Solder Lug MC-6213-SL
For C305,306 #6 Nylon Shoulder Washer MI-0625-SW
For C305,306 #6-32 x 5/8" PPM Stainless Steel screw MS-6P28-10
CR49-52 Empty Diode Position CR-EMPT

Continued on next page.

Release 5.1 (96/12)

5-7




SCHEMATIC AND PARTS

5.4 A2 Power Assembly Replacement Parts
5.4.2 A2 PCB Differential Parts

XKW 1000 WATT SERIES

TABLE 5.4-3 A2 PCB DIFFERENTIAL PARTS (ALL MODELS)
Designation Description Part #
MODEL XKW 20-50 (CONTINUED)
CR301,302 100A 150V Dual UFR Power Tap Rectifier CR-UI00-PT
For CR301,302 1/4" - 20 x 3/8" Brass Screw MS-7527-06
For CR301,302 1/4" - 20 x 1/2" Brass Screw MS-75827-08
For CR301,302 1/4" Straight, plain solder lug MC-1312-SL
L3 Output Inductor 25mH 50A L2-1020
Q5A PN2222A NB 40V 500mA 500mwW TO92 QM-2222-A
Q17 IRF640 NM 200V 0.18W 18A NFET TO-220 QF-0640-IR
R22 21k 1% 1/4W MF R-2102-41
R27,95A 475Q 1% 1/4W R-4750-41
R64,107-110 10Q2 1% 1/4W MF R-10R0-41
R68 90.9kQ 1% 1/4W MF R-9092-41
R70 100kQ 1% 1/4W MF R-1003-41
R71,73 44.2kQ2 1% 1/4W MF R-4422-41
R72 1k 1% 1/4W MF R-1001-41
R85 73.2kQ2 1% 1/4W MF R-7322-41
R86,107A-110A 0Q2 Jumper 1/4W Resistor size R-0000
R89 47.5kQ 1% 1/4W MF R-4752-41
R90 100Q2 5% 5W WW RW-1000-5
R91 #12 Manganin wire WR-0012-MN
RO3 0.40Q 5% 5W WW RW-R400-5
R95 3.32Q 1% 1/4W R-3R32-41
RO6A 4.99kQ1% 1/4W MF R-4991-41
R100 10kQ2 1% 1/4W MF R-1002-41
R301,303,304 33Q 5% 3W MF RA-33R0-6
™ 1KVA 100kHz 20V 50A Transformer T2-1020
O/P PCB Blank Rev.C PC-10RF-C
Differential heatsink (tapped) HS-100T-A2
For busbars 10 mil NOMEX insulation IN-2000-10
Output bus bar (negative) SM-1000-NB
Output bus bar (positive) SM-1000-PB
For O/P bus bar 50nF 1kV Z5U -20% to +80% 10mm Ceramic Disk Cap CC-503J-69
C401,405
C402,404 10nF 1kV Z5U -20% to +80% 10mm Ceramic Disk Cap CC-103J-69
C403 100pF 63V 20% 5mm Electrolytic Radial Cap CL-101F-63
C406 2.2uF 63V 5% 15mm Metallized Polyester Cap CD-225L-D5
Negative conductor bus SM-1000-NC
Positive conductor bus SM-1000-PC
Rectifier output bus SM-1000-RO
For +O/P, -O/P, rectifier | 1/8" copper rivets MP-0205
O/P, shunt bracket
Shunt bracket Inductor O/P, Shunt I/P bus SM-1000-SB
For shunt bracket #6-32 x 1/4" Kep Nut MN-632Z-08
#6-32 x 5/16" Philips Pan Stainless Steel MS-6P28-05
For snubber parts #6-32 Insulated solder turret MR-625C-06
For solder turret #6-32 x 1/2" PPM Stainless Steel Screw MS-6P28-08
For solder turret, #6-32 x 5/8" PPM Stainless Steel Screw MS-6P28-10
heatsink
#6 x 1/4" Internal Lockwasher Stainless Steel MW-6108-SS
#6 x 5/16" Plated Flatwasher Stainless Steel MW-6410-SS
Continued on next page.
5-8 Release 5.1 (96/12)



SIPBIIPIIPDIPOPOPPP0000000000000000080000800000¢0s0¢000007|

XKW 1000 WATT SERIES

5.4 A2 Power Assembly Replacement Parts
5.4.2 A2 PCB Differential Parts

SCHEMATIC AND PARTS

TABLE 5.4-3 A2 PCB DIFFERENTIAL PARTS (CONTINUED)

Designation Description Part #
MODEL XKW 33-33
C27,62 10nF 100V X7R 10% 5mm Ceramic Cap CB-103F-16
C45 100pF 100V Z5F 10% 5mm Ceramic Cap CB-101F-16
C51,52,53 3300pF 63V 10mm Electrolytic Cap CE-332J-63
C54 4.7nF 100V X7R 10% 5mm Ceramic Cap CB-472F-16
C55,60,64 330pF 100V X7R 10% 5mm Ceramic Cap CB-331F-16
C61 220pF 100V X7R 10% 5mm Ceramic Radial Cap CB-221F-16
c87 50nF 1kV 25U -20% to +80% 10mm Ceramic Radial Cap CC-503J-69
CR49-52 Empty Diode Position CR-EMPT
L3 Output inductor 45mH 33A L2-1033
Q5A PN2222A NB 40V 500mA 500mW TO92 QM-2222-A
Q17 IRF640 NM 200V 0.18W 18A NFET TO220 QF-0640-IR
R22 12.7kQ 1% 1/4W MF R-1272-41
R27,95A 475Q 1% 1/4W MF R-4750-41
R64,107-110 10Q2 1% 1/4W MF R-10R0-41
Re8 90.9kQ 1% 1/4W MF R-9092-41
R70 100k 1% 1/4W MF R-1003-41
R71,73 44.2kQ 1% 1/4W MF R-4422-41
R72 1kQ 1% 1/4W MF R-1001-41
R85,89 80.6kQ 1% 1/4W MF R-8062-41
R86,107A-110A 0Q Jumper 1/4W Resistor size R-0000
R90 390Q2 5% 5W Ww RW-3900-5
R91 #12 Manganin wire WR-0012-MN
R93 1Q 5% SW WW RW-1R00-5
R95 3.32Q 1% 1/4W CF R-3R32-41
R96A 4.99kQ 1% 1/4W MF R-4991-41
R100 10k 1% 1/4W R-1002-41
T1 1KVA 100kHz 33V 33A Transformer T2-1033
Differential heatsink (tapped) HS-100T-A2
Output bus bar (negative) SM-1000-NB
Output bus bar (positive) SM-1000-PB
For O/P bus bar 50nF 1kV Z5U -20% to +80% 10mm Ceramic Disk Cap CC-503J-69
C401,405
C403 100pF 63V 20% 5mm Electrolytic Cap CL-101F-63
C406 1uF 250V 10% 15mm Metal Film Cap CD-105L-26
Negative conductor bus SM-1000-NC
Positive conductor bus SM-1000-PC
For +O/P, -O/P, rectifier | 1/8" copper rivets MP-0205
O/P, shunt bracket
Shunt bracket Inductor O/P, Shunt I/P bus SM-1000-SB
For shunt bracket #6-32 x 1/4" Kep Nut Stainless Steel MN-6322-08
#6-32 x 5/16" Philips Pan Stainless Steel screw MS-6P28-05
Rectifier/snubber PCB Rev D PC-100R-D1
For rectifier PCB 9 mil Thermally conductive insulating sheet MI-7403-09
#6-32 x 0.125" PCB Mount Captive standoff MR-632R-02
#6-32 x 5/8" PPM Stainless Steel Screw MS-6P28-10
#6 x 1/4" Internal Lockwasher Stainless Steel MW-6108-SS
#6 x 5/16" Plated Fiatwasher Stainless Stee! MW-6410-SS
O/P PCB Blank Rev.C PC-10RF-C

Continued on next page.

Release 5.1 (96/12)

5-9




SCHEMATIC AND PARTS

5.4 A2 Power Assembly Replacement Parts
5.4.2 A2 PCB Differential Parts

XKW 1000 WATT SERIES

TABLE 5.4-3 A2 PCB DIFFERENTIAL PARTS

Designation Description Part #
MODEL XKW 33-33 (CONTINUED)
C301 1nF 1kV X7R 10% 6.5mm Ceramic Cap CB-102G-66
C303,304 330pF 1kV Z5F 10% 6.5mm Ceramic Cap CB-331G-66
C305 50nF 1kV Z5U -20% to +80% 10mm Cer Rad Cap CC-503J-69
For mounting C305 #6 x 3/16" Bent Locking Solder Lug MC-6213-SL
#6 x 3/8" Nylon Shoulder Washer MI-0625-SW
CR301,302 600V 30A MUR3060PT DUR TO218 CR-3060-UD
R301-306 33Q 5% 3W MF RA-33R0-6
MODEL XKW 40-25
C27,62 10nF 100V X7R 10% 5mm Ceramic Cap CB-103F-16
C45 470pF 100V X7R 10% 5mm Ceramic Cap CB-471F-16
C51,52,563 3300uF 63V 10mm Electrolytic Cap CE-332J-63
C54 4.7nF 100V X7R 10% 5mm Ceramic Cap CB-472F-16
C55,60 330pF 100V X7R 10% 5mm Ceramic Cap CB-331F-16
C61 220pF 100V X7R 10% 5mm Ceramic Radial Cap CB-221F-186
C64 1nF 100V X7R 10% 5mm Ceramic Cap CB-102F-16
C78A, 87 (+C53 to safety | 50nF 1kV Z5U -20% to +80% 10mm Ceramic Radial Cap CC-503J-69
ground)
CR49-52 Empty Diode Position CR-EMPT
L3 Output inductor 100mH 25A L2-1040
Q5A PN2222A NB 40V 500mA 500mwW TO92 QM-2222-A
Q17 IRF640 NM 200V 0.18W 18A NFET TO-220 QF-0640-IR
R22,100 10k 1% 1/4 MF R-1002-41
R27,95A 475Q 1% 1/4W MF R-4750-41
R64,107-110 10Q2 1% 1/4W MF R-10R0-41
R68 90.9kQ2 1% 1/4W MF R-9092-41
R70 200kQ2 1% 1/4W MF R-2003-41
R71,73 44.2kQ2 1% 1/4W MF R-4422-41
R72 1kQ 1% 1/4W MF R-1001-41
R85 84.5kQ2 1% 1/4W MF R-8452-41
R86,107A, 110A 0Q Jumper 1/4W Resistor size R-0000
R89 100kQ2 1% 1/4W MF R-1003-41
R90 390Q2 5% 5W WW RW-3900-5
R91 #12 Manganin wire WR-0012-MN
R93 1Q 5% 5W WW RW-1R00-5
R95 3.32Q 1% 1/4W R-3R32-41
R96A 4.99kQ 1% 1/4W MF R-4991-41
T1 1KVA 100kHz 40V 25A Transformer T2-1040
Differential heatsink (tapped) HS-100T-A2
Output bus bar (negative) SM-1000-NB
Output bus bar (positive) SM-1000-PB
For O/P bus bar 50nF 1kV Z5U -20% to +80% 10mm Ceramic Disk Cap CC-503J-69
C401,405
C403 100uF 63V 20% Smm Electrolytic Radial Cap CL-101F-63
C406 1uF 250V 10% 15mm Radial Cap CD-105L-26
Rectifier/snubber PCB Rev D PC-100R-D1
For rectifier PCB 9 mil Thermally conductive insulating sheet MI-7403-09
#6-32 x 0.125" PCB Mount Captive standoff MR-632R-02
#6-32 x 5/8" PPM Stainless Steel Screw MS-6P28-10

Continued on next page.

5-10

Release 5.1 (96/12)

¥



PPV 90 0997090999099 9009999099909 9099900000000 v909%00v99099

XKW 1000 WATT SERIES

5.4 A2 Power Assembly Replacement Parts

5.4.2 A2 PCB Differential Parts

SCHEMATIC AND PARTS

TABLE 5.4-3 A2 PCB DIFFERENTIAL PARTS

Designation Description Part #
MODEL XKW 40-25 (CONTINUED)
#6 x 1/4" Internal Lockwasher Stainless Steel MW-6108-SS
#6 x 5/16" Plated Flatwasher Stainless Steel MW-6410-SS
C301 1nF 1kV X7R 10% 6.5mm Ceramic Radial Cap CB-102G-66
C305 50nF 1kV Z5U -20% to +80% 10mm Ceramic Cap CC-5034-69
For C305 #6 Bent Locking Solder Lug 3/16" MC-6213-SL
O/P PCB Blank Rev.C PC-10RF-C
CR301,302 600V 30A MUR3060PT DUR TO218 CR-3060-UD
R301-R304 68Q 5% 3W MF RA-68R0-6
MODEL XKW 60-18
C20B 0.33uF 50V Z5U +80% to -20% 5mm Cer Rad Cap CC-334F-09
C27,62 10nF 100V X7R 10% 5mm Ceramic Cap CB-103F-16
C45 1nF 100V X7R 10% 5mm Ceramic Cap CB-102F-16
C51,52,53 3300pF 63V 10mm Electrolytic Cap CE-332J-63
C54 4.7nF 100V X7R 10% 5mm Ceramic Cap CB-472F-16
C55,60,64 330pF 100V X7R 10% 5mm Ceramic Cap CB-331F-16
C61 220pF 100V X7R 10% 5mm Ceramic Radial Cap CB-221F-16
C78A,87 (+C53 to safety [ 50nF 1kV Z5U +80% to -20% 10mm Ceramic Rad Cap CC-503J-69
ground)
CR49-52 Empty Diode Position CR-EMPT
L3 Output inductor 193mH 18A L2-1060
Q5A PN2222A NB 40V 500mA 500mW TO92 QM-2222-A
Q17 IRF640 NM 200V 0.18W 18A NFET TO-220 QF-0640-IR
R22 6.34kQ 1% 1/4W MF R-6341-41
R27,95A 475Q 1% 1/4W MF R-4750-41
R64 10Q 1% 1/4W MF R-10R0-41
R68 90.9kQ2 1% 1/4W MF R-9092-41
R70 100kQ2 1% 1/4W MF R-1003-41
R71,73 44.2kQ 1% 1/4W MF R-4422-41
R72 1kQ 1% 1/4W MF R-1001-41
R85 88.7kC2 1% 1/4W MF R-8872-41
R86,107A-110A 0Q2 Jumper 1/4W Resistor size R-0000
R89 150kQ2 1% 1/4W MF R-1503-41
R90 910Q2 5% S5W WW RW-9100-5
R91 #12 Manganin wire WR-0012-MN
R93 2Q 5% 5W Ww RW-2R00-5
RO5 3.32Q 1% 1/4W R-3R32-41
R96A 4.99kQ 1% 1/4W MF R-4991-41
R100 10k 1% 1/4W MF R-1002-41
R107-110 24.3Q 1/4W 1% MF R-24R3-41
T1 1KVA 100kHz 60V 18A Transformer T2-1060
Differential heatsink (tapped) HS-100T-A2
Output bus bar (negative) SM-1000-NB
Output bus bar (positive) SM-1000-PB
For O/P bus bar 50nF 1KV Z5U -20% to +80% 10mm Ceramic Disk Cap CC-503J-69
C401,405
C403 100uF 63V 20% Smm Electrolytic Radial Cap CL-101F-63
C406 1uF 250V 10% 15mm Radial Cap CD-105L-26
Rectifier/snubber PCB Rev D PC-100R-D

Continued on next page.

Release 5.1 (96/12)

5-11




SCHEMATIC AND PARTS

5.4 A2 Power Assembly Replacement Parts
5.4.2 A2 PCB Differential Parts

XKW 1000 WATT SERIES

TABLE 5.4-3 A2 PCB DIFFERENTIAL PARTS

Designation Description Part #
MODEL XKW 60-18 (CONTINUED)
O/P PCB Blank Rev.C PC-10RF-C
For rectifier PCB 9 mil Thermally conductive insulating sheet MI-7403-09
#6-32 x 0.125" PCB Mount Captive standoff MR-632R-02
#6-32 x 5/8" PPM Stainless Steel Screw MS-6P28-10
#6 x 1/4" Internal Lockwasher Stainless Steel MW-6108-SS
#6 x 5/16" Plated Flatwasher Stainless Steel MW-6410-SS
C301,303,304 330pF 1kV Z5F 10% 6.5mm Ceramic Cap CB-331G-66
C305,306 50nF 1kV 25U -20% to +80% 10mm Ceramic Rad Cap CC-503J-69
For C305,306 #06 x 13/16" Bent Locking Solder Lug MC-6213-SL
#6 Nylon Shoulder Washer 0.25 x 3/8" MI-0625-SW
#6 x 5/16" Plated Flat Washer Stainless Steel MW-6410-SS
#6-32 x 5/8" PPM Stainless Steel Screw MS-6P28-10
CR301,302 600V 30A MUR3060PT DUR TO218 CR-3060-UD
R301-305,305A,306, 330Q05% 3w MF RA-3300-6
306A
MODEL XKW 80-13
C27,62 10nF 100V X7R 10% 5mm Ceramic Cap CB-103F-16
C45 1nF 100V X7R 10% 5mm Ceramic Cap CB-102F-16
C51,52,53 1000puF 100V 10mm Electrolytic Cap CE-102J-76
C54 2.2nF 100V X7R 10% 5mm Ceramic Cap CB-222F-16
C55,60,64 330pF 100V X7R 10% 5mm Ceramic Cap CB-331F-16
C61 220pF 100V X7R 10% 5mm Ceramic Radial Cap CB-221F-16
cs7 50nF 1kV Z5U -20% to +80% 10mm Ceramic Radial Cap CC-503J-69
CR49-52 Empty Diode Position CR-EMPT
L3 Output Inductor 370mH 13A L2-1080
Q5A PN2222A NB 40V 500mA 500mwW TO92 QM-2222-A
Q17 IRF640 NM 200V 0.18W 18A NFET TO-220 QF-0640-IR
R22 4.53k 1% 1/4W MF R-4531-41
R27,95A 475Q 1% 1/4W MF R-4750-41
R64,107-110 10Q2 1% 1/4W MF R-10R0-41
R68,85 90.9kQ2 1% 1/4W R-9092-41
R70 200kQ 1% 1/4W MF R-2003-41
R71,73 44.2kQ 1% 1/4W MF R-4422-41
R72 1kQ 1% 1/4W MF R-1001-41
R86,107A-110A 0Q Jumper 1/4W Resistor size R-0000
R89 205kQ2 1% 1/4W MF R-2053-41
R90 1.6k 5% 5W WW RW-1601-5
R91 #12 Manganin wire WR-0012-MN
R93 2Q2 5% 5W WW RW-2R00-5
R95 3.32Q 1% 1/4W MF R-3R32-41
R96A 4.99kQ 1% 1/4W MF R-4991-41
R100 10kQ 1% 1/4W MF R-1002-41
T1 1KVA 100kHz 80V 13A Transformer T2-1080
Differential heatsink (tapped) HS-100T-A2
Output bus bar (negative) SM-1000-NB
Output bus bar (positive) SM-1000-PB
Continued on next page.
5-12 Release 5.1 (96/12)



’ PIPOPPPOPP9P09P9PPPPPINPPPOVIIOGIVIVPIOPIIOGOIOGOIOIOIOGOGIGIOIOGIOIGCGTIOIOIGCGGEITVTIGCGICTCTTITCSITCITCSITSTY

XKW 1000 WATT SERIES

5.4 A2 Power Assembly Replacement Parts

5.4.2 A2 PCB Differential Parts

SCHEMATIC AND PARTS

TABLE 5.4-3 A2 PCB DIFFERENTIAL PARTS

Designation Description Part #
MODEL XKW 80-13 (continued)
For O/P bus bar 50nF 1kV Z5U -20% to +80% 10mm Ceramic Radial Cap CC-503J-69
C401,405
C403 47uF 100V 20% Smm Electrolytic Cap CL-470F-76
C406 1uF 250V 10% 15mm Metal Film Cap CD-105L-26
Rectifier/snubber PCB Rev D PC-100R-D1
For rectifier PCB 9 mil Thermally conductive insulating sheet MI-7403-09
#6-32 x 0.125" PCB Mount Captive standoff MR-632R-02
#6-32 x 5/8" PPM Stainless Steel Screw MS-6P28-10
#6 x 0.288" Internal Lockwasher Stainless Steel MW-6108-S8
#6 x 5/16" Plated Flatwasher Stainless Steel MW-6410-SS
C301,303,304 220pF 1kV 10% Z5F 6.5mm Ceramic Radial Cap CB-221G-66
C305 50nF 1kV Z5U -20% to +80% 10mm Ceramic Radial Cap CC-503J-69
For C305 #6 x 13/16" Bent Locking Solder Lug MC-6213-SL
#6 Nylon Shoulder Washer 0.25 x 3/8" MI-0625-SW
#6 x 5/16" Plated Flat Washer Stainless Steel MW-6410-SS
#6-32 x 5/8" PPM Stainless Steel Screw MS-6P28-10
CR301,302 600V 30A MUR3060PT DUR TO218 CR-3060-UD
R301-305,305A,306, 330Q2 5% 3W MF RA-3300-6
306A
MODEL XKW 150-7
C27,62 10nF 100V X7R 10% 5mm Ceramic Radial Cap CB-103F-16
C45 1nF 1kV X7R 10% 6.5mm Ceramic Radial Cap CB-102G-66
C48,49,50,87 50nF 1kV Z5U -20% to +80% 10mm Ceramic Disk Cap CC-503J-69
Cc50C 1uF 250V 10% 15mm Radial Cap CD-105L-26
C52,53 220pF 350V 10mm Electrolytic Cap CC-221J-83
C54 4.7nF 100V X7R 10% 5mm Ceramic Cap CB-472F-16
C55 2.2nF 100V X7R 10% 5mm Ceramic Cap CB-222F-16
ce0 180pF 100V X7R 10% 5mm Ceramic Radial Cap CB-181F-16
Ccé1 220pF 100V X7R 10% 5mm Ceramic Radial Cap CB-221F-16
C64 1nF 100V X7R 10% 5mm Ceramic Cap CB-102F-16
L3 Output Inductor 150V 7A L2-1150-FWB
Q5A PN2222A NB 40V 500mA 500mw T092 QM-2222-A
Q17 IRF640 NM 200V 0.18W 18A NFET TO-220 QF-0640-IR
R22 1.96kQ 1% 1/4W R-1961-41
R27,95A 475Q 1% 1/4W R-4750-41
R64 4.53kQ 1% 1/4W MF R-4531-41
R68 16.2kQ 1% 1/4W R-1622-41
R70 100k 1% 1/4W MF R-1003-41
R71,73 8.87kQ 1% 1/4W MF R-8871-41
R72 2kQ 1% 1/4W MF R-2001-41
R85 93.1kQ 1% 1/2W MF R-9312-31
R86 Empty Position R-EMPT
R89 348kQ 1% 1/4W MF R-3483-41
R90 5.6kQ2 5% 5W Ww RW-5601-5
R91 0.05Q2 1% 5W Non inductive RN-R050-51
RO3 10Q 5% 5W WW RW-10R0-5
R95 1.82Q 1% 1/4W R-1R82-41
R96A 4.99kQ 1% 1/4W MF R-4991-41

Continued on next page.

Release 5.1 (96/12)

5-13




SCHEMATIC AND PARTS

5.4 A2 Power Assembly Replacement Parts

5.4.2 A2 PCB Differential Parts

XKW 1000 WATT SERIES

TABLE 5.4-3 A2 PCB DIFFERENTIAL PARTS

Designation Description Part #
MODEL XKW 150-7 (CONTINUED)
R100 11.8kQ2 1% 1/4W MF R-1182-41
R107-110 10Q2 1% 1/4W MF R-10R0-41
R107A-110A 0Q Jumper 1/4W Resistor size R-0000
T1 1KVA 100kHz 150V 7A Transformer T2-1150-FWB
Differential heatsink (tapped) HS-100T-A2
Chassis mounted part Output connector Universal Mate N Lock MI-4875-UM
For chassis mounted Output connector pin MC-3547-ML
part
Supplied to customer Output connector Universal Mate N Lock MI-4874-UM
Supplied to customer Output connector socket pin MC-3550-ML
Rectifier/snubber PCB PC-103R-A
For rectifier PCB 9 mil Thermally conductive insulating sheet MI-7403-09
Stiffener plate SM-103R
NOMEX Insulator SM-103R-IN
#6-32 x 1" PPM Stainless Steel Screw MS-6P00-16
#6 x 1/4" Internal Lockwasher Stainless Steel MW-6108-SS
For PCB mntg #6-32 x 5/16" Phil Pan Head Stainless Steel! MS-6P28-05
300V Insulator IN-1300-RS
C301-304 180pF 1kV Z5F 10% 6.5mm Ceramic Radial Cap CB-181G-66
C305 100pF 1kV Z5U 10% 6.5mm Ceramic Radial Cap CB-101G-66
C306 50nF 1kV Z5U -20% to +80% 10mm Ceramic Radial Cap CC-503J-69
For C306 mounting #6-32 x 5/8" PPM Stainless Steel MS-6P28-10
#6 Nylon Shoulder Washer 0.25 x 3/8" MI-0625-SwW
#6 x 5/16" Plated Flat Washer Stainless Steel MW-6410-SS
#6 x 3/16" Bent Locking Solder Lug MC-6213-SL
#6-32 x 9/32" W x 0.065" H Captive Nut MN-632C-09
CR301-304 30A 600V single UF Fred Rect. TO247AD CR-3060-US
For CR301-304 #6 NATVAR Sleeving 1S-1151-06
R301-304 330Q 5% 3W MF RA-3300-6
R305 4700 5% 5W WW Low inductance RN-4700-5
MODEL XKW 300-3.5
C27,62 10nF 100V X7R 10% 5mm Ceramic Radial Cap CB-103F-16
C45 220pF 1kV Z5F 10% 6.5mm Ceramic Cap CB-221G-66
C48,49,50,50A,87 50nF 1KV Z5U -20% to +80% 10mm Ceramic Cap CC-503J-69
C48A,49A 10nF 1kV Z5U -20% to +80% 10mm Ceramic Radial Cap CC-103J-69
C50C 0.1pF 250V 10% 15mm Metal Film Cap CD-104L-36
52,53 220uF 350V 10mm Snap-in Electrolytic Cap CE-221J-83
C54 4,7nF 100V X7R 10% 5mm Ceramic Cap CB-472F-16
C55 2.2nF 100V X7R 10% 5mm Ceramic Cap CB-222F-16
C60 180pF 100V X7R 10% 5mm Ceramic Radial Cap CB-181F-16
C61 220pF 100V X7R 10% 5mm Ceramic Radial Cap CB-221F-16
C64 1nF 100V X7R 10% 5mm Ceramic Radial Cap CB-102F-16
L3 8.5 pH 3.5A Output inductor L2-1300
Q5A PN2222A NB 40V 500mA 500mw TO92 QM-2222-A
Q17 MTP4NS0 NM 900V 4.0A 4Q 75W TO-220 QF-P04N-90
R22 13.7kQ2 1% 1/4W MF R-1372-41
R27,95A 475Q 1% 1/4W MF R-4750-41
R64,96A 4.99kQ 1% 1/4W MF R-4991-41
Continued on next page.
5-14 Release 5.1 (96/12)

-— R B R

Bl




!‘)‘3)5'&)!“35”””‘illlllllllllllllllllllllllllllllli!

XKW 1000 WATT SERIES

5.4 A2 Power Assembly Replacement Parts

5.4.2 A2 PCB Differential Parts

SCHEMATIC AND PARTS

TABLE 5.4-3 A2 PCB DIFFERENTIAL PARTS

Designatjon Description Part #
MODEL XKW 300-3.5 (CONTINUED)
R68 16.2kQ2 1% 1/4W MF R-1622-41
R70 100k 1% 1/4W MF R-1003-41
R71,73 4.02kQ2 1% 1/4W MF R-4021-41
R72 2k 1% 1/4W MF R-2001-41
R85 976kQ 1% 1/2W MF R-9763-31
R86 Empty Position R-EMPT
R89 787k 1% 1/4W MF R-7873-41
R90 22kQ 5% 5W WwW RW-2202-5
R91 0.2Q 1% 5W Low inductance RN-R200-51
R93 27Q 5% 5W WW RW-27R0-5
R95 1.82Q 1% 1/4W R-1R82-41
R100 11.8kQ 1% 1/4W MF R-1182-41
R107-110 10Q2 1% 1/4W MF R-10R0-41
R107A-110A 0Q2 Jumper 1/4W Resistor size R-0000
T1 1KVA 100kHz 300V 3.5A Transformer T2-1300
Differential heatsink (tapped) HS-100T-A2
Chassis mounted part Output connector Universal Mate N Lock MI-4875-UM
For chassis mounted Output connector pin MC-3547-ML
part
Supplied to customer Output connector Universal Mate N Lock MI-4874-UM
Supplied to customer Output connector socket pin MC-3550-ML
Rectifier/snubber PCB PC-103R-A
For rectifier PCB 9 mil Thermally conductive insulating sheet MI-7403-09
Stiffener plate SM-103R
NOMEX Insulator SP-103R-IN
#6-32 x 1" PPM Stainless Steel MS-6P00-16
#6 x 1/4" Internal Lockwasher Stainless Steel MW-6108-SS
#6-32 x 5/16" Phil Pan Head Stainiess Steel MS-6P28-05
300V Insulator IN-1300-RS
C301-304 180pF 1kV 10% Z5F 6.5mm Ceramic Radial Cap CB-181G-66
C305 100pF 1kV Z5U 10% 6.5mm Ceramic Radial Cap CB-101G-66
C306 50nF 1kV Z5U -20% to +80% 10mm Ceramic Disk Cap CC-503J-69
For C306 mounting #6 x 13/16" Bent Locking Solder Lug MC-6213-SL
#6 Nylon Shoulder Washer MI-0625-SW
#6-32 x 5/8" PPM Stainless Stee! MS-6P28-10
#6-32 x 9/32" W x 0.065" H Captive Nut MN-632C-09
For PCB & C306 #6 x 5/16" Plated Flatwasher Stainless Steel MW-6410-SS
CR301-304 30A 600V single UF Fred Rect. TO247AD CR-3060-US
For CR301-304 #6 NATVAR Sleeving I1S-1151-06
R301-304 330Q 5% 3W MF RA-3300-6
R305 4700 5% 5W WW Low inductance RN-4700-5
MODEL XKW 600-1.7
C27,55,62A 10nF 100V X7R 10% S5mm Ceramic Cap CB-103F-16
C45 47pF 1kV X7R 10% 6.5mm Ceramic Radial Cap CB-470G-66
C48,50,50A,87 50nF 1kV Z5U -20% to +80% 10mm Ceramic Cap CC-503J-69
C48A,49 10nF 1kV Z5U -20% to +80% 10mm Ceramic Cap CC-103J-69
C50B,50C 10nF 250Vac "Y" 10% 15mm Metal Film Cap CD-103L-36
C52,53,53A 1.5uF 630V 10% Axial 32mm Metal Film Cap CD-155A-B6

Continued on next page.

Release 5.1 (96/12)

5-15




SCHEMATIC AND PARTS

5.4 A2 Power Assembly Replacement Parts

5.4.2 A2 PCB Differential Parts

XKW 1000 WATT SERIES

TABLE 5.4-3 A2 PCB DIFFERENTIAL PARTS

. B M M M M M M N N N N N N N N

Designation Description Part #
MODEL XKW 600-1.7 (CONTINUED)

C54 47nF 50V X7R 10% 5mm Ceramic Cap CB-473F-06
C60 680pF 100V X7R 10% Smm Ceramic Cap CB-681F-16
C61,64 470pF 100V X7R 10% 5mm Ceramic Cap CB-471F-16
C64B 100pF 100V Z5F 10% 5mm Ceramic Radial Cap CB-101F-16
CR27A IN4372A Z Case 3 3.0V 400mW Diode CR-4372-A
CR49-52 1N4148 UR D035 75V 300mA Diode CR-4148
L3 Output Inductor 36mH 1.7A L2-1600
Qb5 PN2222A NB 40V 500mA 500mW TO92 QM-2222-A
Q17 MTP4N90 NM 900V 4W 4A 75W NFET TO220 QF-PO4N-90
R22 6.34kQ2 1% 1/4W MF R-6341-41
R27 475Q 1% 1/4W MF R-4750-41
R64,70 4.75kQ 1% 1/4W R-4751-41
Re8 16.2kQ2 1% 1/4W R-1622-41
R72 2k$2 1% 1/4W MF R-2001-41
R71,73 8.87kQ 1% 1/4W R-8871-41
R85 976k 1% 1/2W MF R-9763-31
R86 Empty Position R-EMPT
R89 1.6MQ 5% 1/2W R-1604-3
R90 91kQ 5% 5W Ww RW-9102-5
R91 0.2Q2 1% 5W Non inductive RN-R200-51
R93 47Q 5% 5W WW RW-47R0-5
R95 1.82Q2 1% 1/4W R-1R82-41
R100 10.5kQ2 1% 1/4W MF R-1052-41
R103A 16Q 5% 1W Film Resistor R-16R0O-1
R107-110 10Q 1% 1/4W MF R-10RO-41
R107A-110A 36.5Q 1% 1/4W R-36R5-41
T1 1KVA 100kHz 600V 1.7A Transformer T2-1600-1
Complete Assy Complete 600-1.7 Rectifier Assembly X7-106R
Bare PCB Rectifier PCB PC-106R
Rectifier heatsink Heatsink plate 600-1.7 Rectifier Assembly SM-106R-HS
For rectifiers Clamp plate 600-1.7 Rectifier Assembly SM-106R-CP
For heatsink #6 Nylon Shoulder Washer, 0.25" SD x 3/8" MI-0625-SW
For rectifiers Thermal Insulation MI-106R-HS
For heatsink Nomex Insulation MI-106R-PC
For heatsink and rectifier | #6 - 32 x 1/2" PPM Stainless Steel MS-6P28-08
clamp

#6 x 0.288" Internal Lockwasher Stainless Steel MW-6108-SS

#6 x 5/16" Plated Flatwasher Stainless Steel MW-6410-SS

#6-32 x 5/16" Phil Pan Head Stainiess Steel MS-6P28-05
Chassis mounted part Output connector Universal Mate N Lock MI-4875-UM
For O/P connector Output connector pin MC-3547-ML
Supplied to customer Output connector Universal Mate N Lock MI-4874-UM
Supplied to customer Output connector socket pin MC-3550-ML
C300 50nF 1kV Z5U -20% to +80% 10mm Ceramic Cap CC-503J-69
For C300 to chassis #6.x.13/16" Bent Locking Solder Lug MC-6213-SL
C301-305 100pF 3kV Z5U -20% to +80% 6.5mm Ceramic Cap CC-101G-99
C306-313 22pF 1kV S2L 10% 0.2" Ceramic Cap CB-220F-66
CR300-307 12A 1kV 50nS DSEI 12-10A UR TO220AC CR-1210-AUF

Continued on next page.

5-16 Release 5.1 (96/12)

L — |
=

=



[l““‘ll"lll'llililllllllllllllllllllllll‘“i““‘i“i

XKW 1000 WATT SERIES

5.4 A2 Power Assembly Replacement Parts

5.4.2 A2 PCB Differential Parts

SCHEMATIC AND PARTS

TABLE 5.4-3 A2 PCB DIFFERENTIAL PARTS

Designation Description Part #
MODEL XKW 600-1.7 (CONTINUED)

R300,301 470Q 5% 5W WW Low Inductance RN-4700-5

R302-305 1kQ 5% SW WW Low Inductance RN-1001-5

For +O/P to A2 PCB #18 TEW Stranded Red, 12.5" WT-0118-RD

5.5 Chassis and Cover Assembly Replacement Parts

TABLE 5.5-1 CHASSIS AND COVER ASSEMBLY REPLACEMENT PARTS

Designation Description Part #
B1 Cooling fan (radial) 115V ac 50/60Hz 22CFM 1.6" H x|BR-0115-22
4.75" 8Q
For cooling fan Viny! bumper (adhesive backed) MF-RB12-06V
For fan mounting #6-32 5/8" x 1/4" Hex Standoff MR-632H-10
For fan mounting #6-32 x 1" PPM Stainless Steel MS-6P00-16
For fan,ground screw #6 x 0.288" Internal Lockwasher Stainless Steel MW-6108-SS8
Chassis (and rear panel) SM-10BS-M
For chassis Nomex Insulator IN-10BS-05
Subplate Blank SM-108P-K
For rear panel subplate |#6-32 x 5/16" Phil Pan Head Stainless Steel MS-6P28-05
Ground screw #06-32 x 1/2" Slot Pan Head Stainless Steel MS-6S00-08
Ground screw,subplate | #6 x 5/16" Flatwasher Stainless Steel MW-6410-SS
Cover SM-10CR
For cover Nomex Insulator IN-10CR-05

Release 5.1 (96/12)

5-17




8x1000@208Y F3 10A 258U 8 X AFD14Nes
crig
CA3S ; RN
C7iA] o7t A J}m j_cm
— RLIS + |+ |+ CA36 == esmioEnE =) ; TION
s 3% 2 faa . , 086 8V TO 88U RECTIFIEA CONFIGURA
i u1e JLiiaoq la_g8.54 1 L RLBEA A = o | 77 SEE FIGURES | AND 2 FOR 382U AND 636U GONFIGURR1
Il ® P2 2940 c73 J_ ol I e < _Ql_i e RI0SA Toae!
| g2 728 — [ Rile o CR3t casg_r RIO8 LRFP45] l A ca63 = | 1Y crsn
) RLl4 v K |
s Y + 1k | 1e T | 38t o 1 1 1 A ss A noo| RS = oy AT
Wy TT o) | e CA14 _L cis [, c12 S = 19 RLO7A A\ B2 A ey + £t ] ' |
e act 1908 + + I
,.— 754 cA3er A R93 [
€73y luF & C728 J_ U o N7 o 10 RFD14NGS J _LCS@ Age RLE7 ; | su
—{—F roin vy | 88vl seu T sav + S AEF pet T—-332| s 13 a0l 113 339 oF | ]
F2 8LON | o £ + AL W=l e 5 A asg A e 1 | I = I
LNDICATOR = 1 P o ; R301- R3O c51 52 ¢
e A58 B g £ 0, | a: n A
o 1 1001 CRI7 5 g.66k 846 ® W o | | |1gagk A FZG e -
> [Torez 8] oLl glﬂ.@k CR3+ o4 BLLOA A | NOT CONNECTED | |
1 | HI2-A [ re3 99 i = [5 B | ON 85200 UNITS Cs6
T 7 20, bk 4 47,8 : ALLe l;rnQme | 2.33 -
115U | LA Z o T A cAI02 A T
S %0 | [P To T | L ce iz L | $—> - AN -
- + C13 .33 365k : 3 T A R1B9R LA ALkl At12 ' pAiny '
RLIG 2300 2 == % CH A .. 7 i LA - ca? A |c3se c:
39 T 16U 58V s AT o o 62 pgs 470 SU
- A109 Qi3 T N 4,
s S (NS 4 SR | M2 ) eToTTET e 4 A s || | || sseen Lapny o Ta | e 33I
P2 P 1t 08 > & ; — ; sl A 1RFP451 A l 7|7 L L
3 1 y RIGA A " A R165 = | |
\ st L - o | | g I {4 > 0. — e
Fi j6uCT  1h4Be] re 100 WII-B cs9 ] povres 51 [ aor L ook CR29 3 [
20A SLOH 12 UA Y 8.23 A RISA SCE2A 4 ¥ 2 P L
us ui2-8 T i o o
*: o 6 & b e S e
c8) s e 3371 )i me Rer| cem [csmAlm cos { ceta A T ‘ YN |
200 115V e | o i -5 AUX = A 08| o - n s a:‘gﬁ\fa\.mm AT 3 A
1‘ +12U_RAW_SUPPLY >t R69 A A A
POWEA J2-15 2~ 10,8k
suiten |
11-16
THEAHAL R17 758
SHUTDOWN [ND
N NN I wp-ge | o
18n  Lon 928 Dk D
[ THERRRL 57D 18D ?_EWK l — 208 A48
s | c6 J3-18 >—f<]—x\%s\,— c 9 Ra3 J / 0.33 1ok R72 412
- \ 243 < +12 PN 1
THERNAL 8/ IND (qon 750 ouP - . i T cas I RANGE _I —=
23 '
J2-2 R8I 33 b
188 QuP > A )
PROGRAN 9 =
{8-5U) =
L2 2 IN753 R49
J2-14 >——l ! CALL CA23 59U L A23 10,0k = + 9%k
J3-18 AMN RS3 A 3 WA
+12 p2g L, 20k cAle L’S cnzé Sk S +12 N ur-2 | CR18 R26 P |8 e iz 28
c1 L8 | 0 > TISA || U RANGE 1 cas ZS 1 £t ox }va 347 ¥ cas  100p sul-2
Rizz ' 1.ean 788 570 ! Pigg 2% |- oLt s \ E T ol
—\W\—1 13-14 > a2z $M0 ¢ w3 B OFFSET ©¢w o
& 4 TTL /D | CA? 5 52 1ok 3 e A58
331 R3S Q28 Ay I Sug-3 5 sHL-L 198
c2 €3 s/0 A3 AIE > 200k 2N7080 Az? c27
16n 1en 5.1k 108 . ; r—‘ AZS g c24 - . b -5u
Ly ‘"ﬁ gms . 10. 0k -3 A3 RS R20 g > st
= CRZ21A CR2L
2D g - 1.8k 1,08k | 4.9% 3 18.9k 18.8k ; .
Lt Jo % 18.8k 10.9k 7 b
’“__| css
J3-2 > £ - g e f——+ +12
S0 ATN ez ¢ L8 . 22 ) c21
.3 SW1-B ot e 1GnF i) 54 BB l 1BnF
ol > qup' P pad = |y —AN—i} CI6  ry2y —AAA
8 787k - | ~ .33
Ji-17 i i
e " 258u . Sies O Tl - [ ) R22A AN JAN ALS
- A = MODE INDICATOAS
v 4. 9%k —>| [ » VW 1 o 70 gi-p o 2 CRIA
R J1-12 ouP | A‘[ 75k — Y n oA
) 2 A o | 10 8.1 A [ &e ° | J_ T HON OFFSET
LINE GND MNEUTRAL IND K [ \7 B16 Ve | RIA S fzen Tk
TB1 J3-17 _ RB2 750 O ROL o 121 | LEE2gOHL 75k 8.1 =
RHT OUP >—ANA, n "2 —, ] cu 3| gaey 1 1,00k
= Y an UOLTAGE  CUARENT Ao E¥20 >
AC INPUT 2 ANN——+ AMy——+28 R30 21, ey
100-130 At é R84 R4l th8 iU 665k 878 x
200258 10.9 gqglk < 3.0l 3.81k K3 A2 10,9 | «
47-63 Hz = 9.9k
" A7A
1 Lok <
ce  0.33 s
cAL? F 5
1NB25R 1 As e R119A +12
Fi R19A nsng Rl4 CALS 1aek Ur-1 cate 91-2 [ 11enTRL) |
agp 1 10,0 w0 | [ —<| In
€3 A4 + o | | i v
u 4 750 8,2V REF
108pF A fr. a2 18,8k l [ T
s P 2907 g | |
a+ £ | | 19
29@7R . |5K |
| weel | V
€39 [ = ! -
—> J3-16 >
i l__-‘ i ) J\ * af d v | n.nk L:bl i [ Wy 9= DY i‘ = A_: al:\c @2:
- = w E a = -
 souReE .33 -33 S5e%3 & BIE 98 L @fE f8 na aE 18 15 52 3 TE TE &2 T
A AA Gg 038 & 0B =g S5 22 5E =E 2Z 05 N2 = 8= &g . ]
3 Py Ja-22 8- T Teg 2 & 3 > E 5 y =
R4@ I SRC 5 E u 8 4 = . h 8 M
5-16A 750 (1 mA) g > ’I‘ T‘ T @ &




& X RFDI4N@s
USE A-AL CONNECTION FOR B8-88U UNITS

oo I3-13
SAA _Lcm J_cma S s USE A-A2 CONNECTION FOR 158-600U UNITS AES A NS é“
]gﬂa su - A | /ﬂ L 6 T0 805 RECTIFIER CONFIGURATION a1 T ]
= 5 RLBER A aLs IK E'MU _L_*‘%U ] SEE FIGURES | AND 2 FOR 306U AND 6@V CONFIGURATIONS PARTS LOCATED ON BUSBAA FOR 8-83V UNITS \ — T <&
= R3BSA Te: 5anF =
SNF cR3L 7D cs? J_ 14y e | y cass  [c306 ca 52 (CLACULT DESIGNATLONS FOR BUSBAR 2t VW 868y ONLY
1k 18y .33 I o Tk . | moes -IA I I 9 cren_| ) - ASSEMBLY ARE SHOWN TN PARENTHESES) noa
N = sau A — N I 108 5M
+ 5 REF T RO A PHIHZA i 2 1 o | ) e 1 z I T g I 0+ o
s . cs6 CR381 A ] R93 casn |case
REF % .33 fiLe? ]; ats su 3
%RE 2,; 15.,,, “13“ A e 1AFP45] ?Eg I | s | Josa (chon) _(CQBS)]
: ) c568 A A a0
AS9 oy [ I P B4 Q ? Iy Tl 7N ML tcm ( (cwa) ’ ;
. 6 + + 4 prm—
g (Blalale i » 2k Alik == L
§RE° s MY BLlgA A NOT CONNECTED | | ) T T i
LB.GH‘ ?m—n [ne3 | QN 8520V UNITS 56 £l | | ce8 cm: | (c+az) [
cA3a T e 4 L I—:IRFP451 t301 ~c30z I 0.3 [ I
Wil | 7 t4 A 4 A A casgr A i - ASL l T T T
g AS7A | CAS2 A | 13 | o | _ A i 4= [
cRaz I33T 33 365k 61 HE! _ ALOgA A mu nuz Pmn I vos hl J_ A“’ CSSB_L rzm = = = B
> - |__J |;3 ca?
[ - 25| -
ATL s AU gy oT . JAN IN53368 QuP-ANT
Jas 182K ez i | Q| | 82 | eTSTRT S »_‘\M‘il—’g ) ; i s o 5 | - b L N T 0.3 I 430 LS ange 1 Bl
22220 T Ly — 3 CASI A 1RFPAS] | A A [ /-J7 = = " | ) 1324
y asan L. RTN
Noocr a { »ém.ak N °3 AL ! = o= == = = ces | c7e Ag?
& a1 1 g I == 0,61 8,32 == 100 54
Wi1-8 £59 =|== 2 atn CiL [ hov L. aek CR29 T3 |
; e.aaT T e “‘T %‘Z [ : R 7 ! J3-12
™ =t e & e
el : —sd TL 4 e e —* o < 'RTN NS
NS E DN [ | 3 £ ke v
o . Inf | . n AAA }
. R Augan cryre GhaR L3 A
18. 8% OUTPUT AND SENSE CONMECTOR
FOR HIGH UOLTAGE MODELS.
JP-L0C - @ew
ouP @
SENSE [ — 208 A48 *
LINK & Eg
o 2 cis Ags "z —1— = o3 L Rz 42 J1-8 | +SENSE 243 +QUTRUT
RE3 = A c3 o o \u: ¢ay i c1an - ! TETER * oSENsE Sy
T e g 9
A .33 7 =t lv'cg;a @,33 I
== 1 @ .33 =
= = ZJ
cau | cazy G063 l A23 10,0k ; e l_-L- 4Rggk i kil
4 S AN < . é A7s 158U AND 388U RECTIFIER CONFIGURATION
% R26
T y o iy 12 u7-2 il SR8 AT 12 | 71 12 czsl 1,98 S .99
! cRg ZS = 2I 351 o 2.801 Sl Zlgcas 10y suL-2 — c30t
{ , o o oLt =t T o CR30A
0§ w3 OFFSET 0 ¢ 10 A C'JGS Ch3gt
| R22 H cAs VWV A301 R0+
A nsz 19k AMA— | : RS@ €38R A78
Q28 i SN1-3 suL-1 108 128p T EneTY
2N7g0e ? A2z €27 L +— - €302 {;303 _]_
A5 g 021 A AN Cpag? 303 €386
§*“ 9.0 L . ; i i é > As Aez A3a3
1.2k 100 E mzm CA2L 4,99k 19,0k 18,0k 5 3 % 73
— 1 | 4,95 | casd A
[ 0 L3
€ss A
(32
i czz by 32 mf T 3 !
. mnr A78 54 A8 1Enp‘$ ‘l_
= L] R47 FIGURE 2
g —AAN— | ' | CE o —AWA = W can 500 +6.2 606y RECTIFIER CONFIGURATLON
s : 18 I OFFSET R12A
\ A22A A A i i ais W §2-5 8> .
AN 1 = 750 gy, MOPE INDICATORS e  Ipgm
| 0P | f‘l 75k . = = A A ____.__< J2-11 R320
— e = l 8.1 ar [ f £ o ogrser 488 T READBACK
i - 7AN Cc26A A4
oJd I - CR3 R16 a2 oAl I A3A § 16K
e Rig 121 | | 75k ge.x 3 Ag R36
12 — cu 3 L 1,00k
%n l VOLTAGE  CURRENT - 6.2 -‘\/\/\/——% ”;_“', ! AP ca6s
é ] é A, HW f20 2 / o J3-7
Req R4l [37:} 1 665k A28 a-5u N
2.0l 3.81k ' o 10, ok TN pg 1 MON 52
Al A B —AN—3 GRIN  18.0k
6.2 REF — M 9.9 -
I
oo = JULL I 20,0k NOTES:
_1_,\/\/\,__“‘_- ) o e ALL UNMARKED DIQDES IN4148 (EXCEPT F1G.1 AND F16.2)
| % <t fLL FIXED RESISTORS 1/4W 1% UNLESS OTHERWISE INDICATED
1} A 12 - CAPACITOR UALUES IN MICROFARADS UNLESS OTHERWISE INDICATED
Z e, et R119A 5 Ji-1a L
¥ ml:a 1;8;‘&; gp;é; = | U~4 cals J1-2 [ deNTAL | . t< /X DENOTES MODEL DEFENDENT UALUE
teep " St - ~ J2-13 SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE
) L | o | | 250 6.20 REFERENCE CONPONENTS ENCLOSED TN DASHED LINES LOCATED ON A1 PCB -
2907A . 25U - UNLESS OTHERMISE INDICATED
N [ 1 Jt-§
| | aLs | < At 6.2 EXTERNAL J3 JUMPERS SHOWN CONNECTED FOR LOCAL OPERATION
at J -~ 5K R _chs REF. (SEE INSTRUCTION MANUAL FOR ADDITIONAL INFORMATLON)
2907A | r2e ] | ‘ I INB25 .33 TH1S SCHEMATIC REPAESENTS THE LAYOUT OF PCB PC-1082-G
5k - - = y TITLE:
oh €38 | | | s RENOTE FT<“'7 1 KW A2 ASSEMBLY SCHEMATIC
- \ \ A O A kLB \ / \ cs
- N X oF B ww oy = I 9Y = Qe = ® o5 T - DRAWING NUMBER: -
) - Beids F ERE TELEE M D fefg 3d 12 =4 1 %R goo1002
= J3-22 @27 0 2 Sge 2 . B 3 @ 8°" g Cw e e -~ 8 —< y2-7 DESIGN M. EDMUNDS | MEV. Q ECN 1kH-237
n I SR z @ i e A @ 2 N 3 <3 DRANN: P. CAD LAST REV.  96/06/15/8F
T . > -1 i\ T 2 £ = GND Figure 5.4-1 CHECKED REL. OATE:
.l APPROVED:




r POPP9PPP00000000000000000000000000000000000000000000008¢9)

XKW 1000 WATT SERIES

APPENDIX A: Application Note

Battery Charging

APPENDIX A

When using the XKW Series (1000 Watt) power supply to charge a battery, take the following precautions
to prevent damage to the supply and/or the battery in case the overvoltage protection (OVP) circuit is

activated.

1. Sclect a diode rated to handle the required charging current and voltage. Use the following

table as a reference.

TABLE A-1 OUTPUT DIODE SELECTION CRITERIA

Peak Charging Current

Maximum Voltage

Diode Type

250-350A
60-249A
25-59A
10-24A
5-9A
<5A

40V

40V
100V
300V
500V
600V

Two (2) parallel MBR30045CT
One (1) MBR30045CT
One (1) MUR7015
One (1) MUR3040PT
One (1) MUR1560
One (1) MUR758

2. Connect the diode in series with either supply output to prevent the battery from discharging
through the internal OVP crowbar transistor. The diode must be mounted on a suitably-rated
heatsink to prevent its case temperature from exceeding the manufacturer's maximum limits.

Release 5.1 (96/12)




